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GENERAL INSTRUCTION TO THE EXAMINEES:
1. el dueE 79w U UH X ATEB Ifardd: fored |

Candidate must write first his/her Roll No. on the question paper compulsorily.

2. I 3T B A 2 |

All the questions are compulasory.

3. U YT BT IR &l g IR GRAST 3§ &1 ford |

Write the answer to each question in the given answer book only.

4. R gl # aaRe% @vs 7 39 991 & IR Db a1 & ford |
For questions having more than one part the answers to those parts are to be written

together in continuity.
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SECTION-A

90 1 §gfddedid We (Multiple Choice Question)
(i) M 3o & SH& & ©9 # fd ST 38—

(1) Rwer @) o
(%) Renre GIRINE
Who is known as the father of morden economics-
(A) Smith (B) Keynes
(C) Ricardo (D) Marshall
(i) AT 519 BT Ufdhel 28—
(1) o (@) =T
(%) o () AT

the return of human labor is-
(A) Rent (B) Interest
(C) Profit (D) Wages

(i) 791 & & T AR Hifad G 8-

(31) My @) M,
(&) M3 (3) Mq
Which of the following is the aggregate monetary resource-
(A) My (B) M2
(C) M3 (D) Mq
(iv) FeT T & oy a1 &t AT ¥R ol 2—
(61) 9 () i
(%) s (=) =St

Demand for money the speculative motive depends on-
(A) Bank (B) Profit
(C) Income (D) Interest
(v) I AT ITHIET 9g9fT 0.5 & O AT 99d UgRi 8Rf—
(31) 0.25 @) 05
(a) 1 (g) 075
If marginal propensity consumption is 0.5 then marginal propensities saving will be trend-
(A)0.25 (B) 0.5
O 1 (D) 0.75
(vi) TRa # fo=fra 9 @) srafd 2—
@ 1 SR & 31 foawR @) 1 Selts & 30 A
() 1 3WeT & 31 A/ () 1 93 ¥ 30 WA
The period of financial years in India is-
(A) 1 January to 31 December (B) 1 July to 30 June

(C) 1 April to 31 march (D) 1 May to 30 April
(vii) ART H IRI—HAT PR B AN fHAT TIT—

(31) arue 2017 (@) @3 2017

(|) S 2017 (]) g 2017

When was goods and service tax implemented in India-



(A) April 2017 (B) May 2017
(C) June 2017 (D) July 2017
(viii) T & @ @rOR @ @ 99 A8} -
(31) IERAT T rATd (@) axgail @1 Fafd

(|9) 31 qarr 9 (|) =R YT
Which of the following is not an item of trade account-
(A) Import of goods (B) export of goods
(C)Aand B (D) Transfer Payment

(ix) St 3refeme & Sy fhar Sirar g—
(31) Wt B HT (@) Th BH & FIeR
(|) axg ®! DHHEd @) J T
Micro economics is studied in-
(A) Taste of Consumer  (B) Behavior of a firm
(C) Price of Commodity (D) All these
(x) TR AT BT b 9\ A ST SIaT 8—

(31) T @A (@) snfdfe arTa
() sfa orTd (®) A= AT
What is opportunity cost known as-
(A) Total Cost (B) Economic Cost
(C) average Cost (D) marginal Cost

(xi) goic X@T ¥ e & fou STRerR aRe 28—
(31) SUHTEAT B M (q) a3l BT DIET
() o1 gT § (@) S8 ¥ BIg =l
The factor responsible for the shift in budget line-
(A) Consumer Income  (B) Price of Good

(C)Aand B (D) None of these
(xii) AT B 28—
(31) Q=f (P) @) P=f(Q)
(@) Q=f(L) (?) L~f(Q
Demand function is-
(A) Q=f (P) (B) P=f(Q)
(C) Q=f (L) (D) L=(Q)
(xiii) f=ferRad & § @ MR &7 g% T8 8-
(31) TIBIA AT AT (@) TP M AIRTd
(@) o Rer arTa () o uRacdt arTa
Which of the following is not a ‘U’ Shaped Curve-
(A) Short run average cost (B) Short run marginal cost
(C) Average fixed cost (D) Average variable cost

(xiv) SAEd & ) AreE gRad! 81 g
(o1) <refeprett H OEREISIEE
(@) AfT reudmrad § (S) T I

All factor of production are variable-
(A) In the long run (B) In the short run
(C) In the very short run (D) all these
(xv) AT & RIfT # IR Hva BRfi—
(31) Hge BT & aRIER (@) AT BHT I 31D



() Hger PAd | A ) RerR =]
In case of excess demand, the market price will be-
(A) Equal to the equilibrium price
(B) More than the equilibrium price
(C) Less than the equilibrium price

(D) Will remain stable
2. Raw o= @t gfif iR |
Fill in the blanks.
(i) DT B GRIG TRID oo g |
It is famous book by Keynes ................
(i) TR ASTARTT I B TRI HG oo =
The main item of non-plan expenditure is ............
(iii) AT ST Ygfa qAT WA 99 UgRd BT AT BIAT 2 |
It the sum of marginal propensity to consume and marginal propensity to saving is......
(iv) 9% & TGl I BT AT o HEACT B |
Exchange of goods in exchange for goods is called........................
0% BT ATl 9 forfdl & #eg deer br qodr & |
.......................... Function shows the relationship between inputs and outputs.
(vi) IRa® AT ah & FeF g W AT B Ao @ IRIER Bl B |
The elasticity of demand at the midpoint of the liner demand curve is equal to.............
(vii) of uforagt % avg @ @a &1 iR gRT fdar Sirar 2|
In perfect competition the price of commodity is determined by................
3. 3 TYSTRIHD

Very short answer
=1 o=l & IR 1020 Tkl H QR
Answer the following questions in 10-20 words.
(i) s Vore fpst ®ed &7
What is called economic agent?
(i) o g @ 22
What is net export?
(iii) srfauaReT @ B Uh DT FTAT fIRau |
Write any one central problem of the economy.
(iv) got uforagt § wH &1 AT 9 Har g1 8?7 (W@ 9918v)
Who is the demand curve of a firm in perfect competition? (Make a Diagram)
(v) AP HXc] ST a1 &7
What is gross domestic product?
(vi) o =1C &1 g3 oy |
Write the formula of revenue deficit.
(vii) fa<el fafwa IR & <ot &9 81 8° forRau |
Who are the brokers of the foreign exchange market? Write
(viii) STOTR SfeuaReIl &7 Uk IeTexT forlRay?
Write an example of market economy.
(ix) FoTe Y@ w1 87
What is the budget line?
(x) ORPR gRT U1 &1 fag qwor & fhar orar 27
How is the deficit financed by the government?
(@vs—9)
Section-B




THYSTRIHAD T
Short Answer Questions
1 geAl & TR 30—40 Wl # AR
Answer the following question in 20-40 words.
4. fHaer &1 aRIa S |
Define Investment.

5. AHRIHD 3N fageryor qor amefe anfeie Avayo #§ =k I |

Difference between positive economic analysis and normative economic analysis.
6. SR AHA | MY a1 FASK 27
What do you understand by indifference map?

. Yol Ufugl aToR @ 1 IRl &1 Sl B |

Mention two characteristics of perfectly competitive market.
8. AGATRIP bl & UrAffed Hral bl AHSU |

Explain the primary functions of commercial banks.
. TUTH B UfhAT BT WY § FHSISY |
Explain briefly the process of multiplier.

10. 3TCUDBTT TAT STHDTA DI HHeu-T Bl FHMSY |

Explain the concept of short run and long run.
1. 99IR Age ¥ dsd 2? Y@ifes 9l 915y |

What is market equilibrium? Also make a diagram.
12. afq (i). SUINT Bl C =40 + 0.8Y

(ii). 99T B : 1=10
2 ql Fge M A1d BTy |
If (1) Consumption function C=40+0.8Y
(i1) Investment function =10
Find the equilibrium income.

13. YTIR ©Te] JAT TR IR BT THSU |

Explain trade deficit and trade surplus.
14. 3fGHA BT URNINT HITY | JgqeIT B WR faqel A Ha % wR @r ywrg gsdr 87

Define devaluation. What effect does devaluation have on foreign exchange rates?
15. {NT B PIAT A B T ST BT ool DI |

Mention two categories of price elasticity of demand.

(CES)
Section-C

~

[{e]

TSRS 797
Long Answer Questions
71 gei & SR 60—80 Tl §H IR |
Answer the following question in 60-80 words.
16. f=feIRaa &1 e HIfvTe—
(i) TP Ud ydrg (i) SUHTeRTT U Td YoiliTd g%y
Explain the following.
(1) Stock and Flow  (ii) Consumer goods and Capita goods
IJAI(OR)
f=forRad 3ffaprsl | HRE ANTT IR et IS A ST BIRTY |
(i) FPHA BT SHUTE = 1000 TS
(i) faer & fad ®R® 3T = 150 RIS
(iii) et eTcueT B = 200 TR




(iv) JeI & =50 RIS

From the following data find national income at net factors cost.
(1) Gross Domestic Product = 1000Cer.

(i1) Net Factors Income from Abroad = 150Ccr.

(ii1) Net Indirect Tax = 200Cer.

(iv) Depreciation= 50 Cr.

17. JTSRG TITIT T YSIRTd UIiqai &l |H9eisy |
Explain revenue receipts and capital receipts.
31dI(OR)
e # Hekil & [9ug 3 wEre Sifo |

Discuss the issue of deficit reduction.

18. 3T IWTE TAT AAT ST Bl F&T H FASTEY |
Briefly explain average product and marginal product.
3TAI(OR)

e RO # i ScUTE T HHNT SeaTE ®F IO HIRTT |

Calculate average product and marginal product in the following table.

%9 DI ghISAl HA SR | A 3G HHr S
Units of Labour Total Average Product Marginal Product
Product

0 0 - -

1 5 - -

2 15 - -

3 30 - -

4 40 - -

19. Ueb A% I DA 10% Td Yl 100 ShISTT 8 | HIFT d¢PR 12 . B WR Yfdd dGdR 150
gHISAT &1 Wl &l Ui & dra s1d BTy |
The Price of a commodity is Rs. 10 and the supply is 100 units. If the price increase to Rs.
12 and supply increase to 150 units, Calculate the price elasticity of supply.
31UdI(OR)

TP BH & Yl 9% & FERST BT qoF BIG | (18 <)
Explain the factor determining the supply curve of a form (Any Two)

(@Ts—3)

Section-D

IRERCIRE R

Essay type Questions

1 el & SR 100—150 Teat # Q|
Answer the following question in 100-150 words.

20. YRT & Gy ¥ R R9d §6 & raf &1 avie9 Sy |

Describe the function of reserve Bank of India in the context of India.

31TdI(OR)
9] faf T gomell @& <11 &7 Seoid IS | T $91 aIN1 & 5 UhR R PRl 87
e T |

Mention the disadvantages of the barter system. How does currency remove these defects?




Discuss.
21. SUYIGTT & $SCdq I I 3T R JHST 82 Fofc T dAT JARHN I &1 Ferddl A

I DHITI—

What do you understand by optimal choice of consumer? Explain with the help of budget

line and indifference curve-
3TAI(OR)

HAT g6 H fR1de aem | 9% & fe9m | i &1 IHsnsy |

Explain the shift in demand curve and movement in the direction of demand curve.

22, OREd U M @7 NETRE & Gl | ArRAT I |

Explain the low of variable proportions with the help of diagram.
31YdI(OR)
ErEPTel T INTd T <Tedhlel WHIRT oITd 8§ Fr &l s W BT |

Explain graphically the relationship between long run average cost and long run marginal

cost.
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General Instructions to the Examinees

1. U@l FhuYH U UIH—UH AUAT MG SfaRid: ford |
Candidate must write first his/ her Roll no. on the question paper

compulsorily.
2. 1 e HR S1fard B |

All the question are compulsory.

3. U U Bl IR ol g SxR—YRGhl H &1 o |
Write the answer to each question in the given answer-book only.

4. TS gl 3=<iRep @WUS &, 9 W & SR U A1 & forsd |
For questions having more than one part, the answers to those parts
are to be written together in continuity.

5. Ue—UF & Bl g JUSH HURY H Bl ysR @1 Ffe /3R / faRiemwmd g+
R Bl 99T & U &l &1 el A |

If there is any kind of error/difference/contradiction in the hindi

and english versions of the question paper, the question of hindi

version should be treated valid.

6. U B IR ol | d U &1 HHId ad ford |

Write down the serial number of the question before attempting it.
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Section - A
IEfAHT U : (i ¥ xv)
= geAl & IR BT A1 by T B STR—YRaaT H foffRay |
Multiple Choice Questions: (i to xv)
Answer the following questions by selecting the correct option and write them in

the answer sheet.

i) M 9 A9 F HAW: 50000 YA Td 60000 HUY DI Yol @ITHY ATUR YR
fhar| ArEer fdokg & oM H 99 QM H fdare & R § 99 & ofd #

FATH—EIM HT dearT fd sgurd # v SRR 2 (1)
) 56 §) 65
) 1 T)  ZH A BIS e

Ram and Shyam started business with a capital of Rs. 50000 and Rs. 60000 in
which ratio profit or loss will be distributed at the end of the year in disputed
situation in the absence of partnerships deed?

A) 56 B) 635

c 1: D)  None of the above

ii) M IR AT 32 H oMl BT §SdRT S Y AIEIGR T | S=I AT &l 1/5
TR & ford gawr fear 91 S99 gof U 9 e 9 i fhan | Agaaed

HIET BT AT ™ TSI SaTa 8T 2 (1)
) 321 q) 322
) 2:2:1 3 311

Rohan and Sohan are partners sharing profits in the ratio of 3:2 They admitted
Mohan for 1/5™ share which he takes fully from Rohan. New Profit sharing ratio of
Rohan, Sohan and Mohan will be?

A)  3:2:1 B) 3:2:2

Cc) 2:2:1 D) 3:1:1

iii) B4 & BT FERER & Y 8 W A DT WRI BT AY SR



far SR — (1)
3) Id AEER & Yol @ 9 Y 9EER & Yol @rd ¥
H) W EERRI S Sl Edd ] 396 DIy o

At the time of death of any partner of the firm, the balance of revaluation account

will be transferred to-
A) Deceased Partners Capital A/c B) Remaining Partners Capital A/c
C) All Partners Capital A/c D) None of the above

iv) A, B, Td C U ®H # oM™l &I 54:3 ¥ dicd 8¢ WEIGR & | B @ dar-ghl
qead A A7 C &I 91 A 39S S urd 111 2| BRIQ ST STgurd T

BT ? (1)
) 53 q) 43
) 13 ] 141

A, B and C are partners sharing profits in the ratio of 5:4:3 On B's retirement the
profit sharing ratio of A and C is 1:1 What will be gaining ratio?

A) 53 B) 43

C) 13 D) 1:1
V) BH & FHUE IR Udh AEER Q9 §RT ®AMER 15000 w9 # foram wam | S
gfdfte grfl— (1)

37) f&=Ier &1 Yol &Tar A 15000 wUY TAT a-Gell TIAT STHT 15000 HYA
) BeIeR @rdT H 15000 HY AT f&19T BT Yoil @Iar S 15000 H9
) AT WIAT A 15000 WUY TAT &9 BT Yol Gl ST 15000 w0
T) faer &1 4ol @rdr M 15000 BUY TAT BeiTeR Tl STAT 15000 w0

On disolution of firm a partner Dinesh taken furniture at Rs. 15000 Journal Entry will be

A) Dinesh's Capital A/c debited Rs. 15000 and realisation A/c credit Rs. 15000
B) Furniture A/c Debit Rs. 15000 and Dinesh's Capital A/c credit Rs. 15000
C) Realisation A/c debit Rs. 15000 and Dinesh's Capital A/c Rs. 15000

D) Dinesh's Capital A/c Debit Rs. 15000 and furniture A/c credit Rs. 15000

vi) 98 Yol Sl ddel ¥ & FH99 UR AT Sl § Sl 8 — (1)
3) e gont 9)  SRfErT ol
|)  goar gon q)  frifaa ool



The capital which is called up at the time of winding up of company is called-

A)  Authorised Capital B)  Reserved Capital

C)  Paid up Capital D)  Issued Capital
vil) 0T 9Hl & gec WR AT R OR HIAAl @ral | SR — (1)
3) T UH HTl §) WU UA & AT OR 9Ser @l

W) SWIGT 31 T g g T) SWRIGd H W Pls T8I

Which account debited on issue of debentures at discount -

A)  Debentures A/c B) Discount on issue of debenture A/c
C) BothAandB D) None of the above

viii) AT o=l @ oifds @ ford emded Ui 8 @ Rerfa &1 w'd 28— (1)
3 ofEm 9) - Srgarer
q) g e ])  SfERfET

Application received in excess of issued debentures is called -
A)  Subscription B)  Semi Subscription
C)  Under Subscription D)  Over Subscription

ix) T ITae TIcf g & ~ (1)
) 11 q) 21
q) 12 T 31

An ideal current ratio is -

A)  1:1 B) 2:1

C) 12 D) 3:1
x) BRI (Y T T & YAMHHA B YA IMUERV Wi b AY Bl ... Grd

H graRd fdar Ser g — (1)

) AT 9 T H q) o9 B FH™oE @rdr |

|) Yol Fog @rar | ]) gfoyfa NAIH Rie @ H
After reissue of forfeited shares the balance of share forfeited account is
transferred to............. Account -

A) General Reserve Account B) P & L Adjustment A/c

C) Capital Reserve Account D) Security Premium Reserve A/c



xi) A, B, C, faifics 9 100 S dTel Yuiyes 5000 09 10% WA WR
ftae f5d | ot Feoro=l @ ford amdes Ut 81 Y | *mded it @ foru
yfafte grfi— (1)

31) VYA @IdT A 500000 WU, YRl AT |9 @rdr A/ 50000 B4
AT I WIAT ST 550000 /U
q) d% QT AT 550000 WYY TAT FOTUS 3MAG @IAl STHT 550000 B

H) d Wl M 550000 HUJ TAT SROTUH WIAT ST 500000 WU T Ufcrfa
WIRM F9d Qa1 ST 50000 S
T) &% @IAr A 500000 WY Ul WIFRE S99 Q@TAT A/ 50000 WU AT

FOTYS WTdT STHT 550000 HU

A,B,C Ltd issued 5000 fully paid up debentures of Rs. 100 each at a premium of
10% Application received for all debentures, Journal Entry will  be for
application money -

A) Debentures A/c debit Rs. 500000, securities premium reserve a/c debit Rs. 50000 and
bank a/c credit rs 550000

B) Bank a/c debit Rs. 550000 and debentures application a/c credit Rs. 550000

C) Bank A/c debit Rs. 550000 debentures a/c credit Rs 500000 and securities premium
reserve a/c credit rs 50000

D) Bank A/c debit Rs. 500000, securities premium reserve A/c debit Rs 50000 and
debenture A/c credit Rs 550000

xiil) HE P oy faaRer # enfie 8- (1)
3) @™ I+ fdeRor g)  Pbs yarg fdeRor
9 god 9 T)  SWRad I

Financial statements of a company includes -
A)  Profit & Loss Statement B) Cash Flow Statement
C) Balance Sheet D) All of the above
xiii) T/ # | JAds IETHT HT ISR T — (1)
31) AT BT Adbs fdhd  9) AT BT Adbs by
) H1 BT T q) R BeieR BT YR Ay
From the following the example of cash outlaw is -

A)  Cash Sales of Goods B)  Cash Purchase of Goods




2)

C) Goods given as Charity D)  Sale of Old Furniture on credit

xiv) 7 & 1 ared fhardema | diedt far enfie |81 § °? (1)
) AT DI [ q) HHATRAT BT dqT BT YA
) AT © $HY UR YT gecl T) 9aT BT B

Which of the following is not an operating Activity?

A) Sale of Goods B) Salary paid to employees
C) Discount received on purchase of goods D) Purchase of Building
xv) Nh€ UG e Jodis H AFAfold Bl & — (1)
) Rds Y q)  dF H
9) 3BTl fIaeT T)  SWRIad Il
Cash and Cash Equivalent includes -
A)  Cash Balance B) Bank Balance
C)  Short term investment D) All of the above

Read Tl a1 gfcd e (4 vii)
Fill in the blanks: (i to vii)

i) ool Sl gRT ST fhd ST+ dTel SR @1 AT | 6H 3Tded UIW 819 &l
TN BT oo PEd T | (1)

When application received is less then issued shares by a company is called

............... of shares.

ii) 3797 IRVE & YT U &F Bl ... fafer & affoaa e ST 810 (1)
Received money in against of share warrant is includes in.......... Fund.

iii) T AEGER §RT o8 T8 @A &I AR S /A ARGER ... 3rgaTa
forTfre v 21 (1)
Share of good will brought in by the new partner is shared by old partners in
............ ratio

iv) AT ARIER BT bs YA 81 B I Bl Reafd § I BH gRT <
N R B F BH ... gfererd <ot 1 fear ST | (1)

In case the firm is not able to pay cash to retiring partner the firm will pay

minimum .............. % interest on amount able to retiring partner.



Depreciation is a.................... expense.
vi) T UF gR®I BT B & BY H ........... T ST 2 | (1)
The debenture holder are given ............ in return.

vii) AR HFT SIEAFRA 2013 & SITAR BT §RT 3TH AR/T W ...,
% DI T A TSl S BT YT 7 | (1)

According to Indian companies Act 2013 the provision of interest is, at.............. %

on calls in advance.

3)  IffacgwRII® U ¢ (i¥x)

Very short answer type questions : (i to x)

i) e fdolm # e 9 8F @ R # ARRERI & &0 R o & 99 & IR H
ENIEM (1)
Specify the rule of interest on drawing in the absence of partnership deed.

ii)x, vyQd z@m™l & 1:2:11 # dicd gU AIEIGR © | 01 3R 2021 Bl zH G 8 T | 31
AT 2022 BT FAT B dTel a9 & AT 60000 HUY AT | Id AEIGR &I a9 # 2w
ST B | (1)

X, Y and Z are partners sharing profits in the ratio of 1:2:1. Z died on 1st August 2021.
Profit for the year ended 31st march 2022 was Rs. 60000 Calculate deceased partners
share in profit.

iii) 372N g1 AT Hro=t 7 el &1 <1fiw fag IR 9% g § ? (1)
At which amount the liabilities of share holders in a limited company ?

iv)f&d Feoro=l | S T HEd ' 7 (1)
What do you understand by Secured Debentures?

v) SIS0, BT QI M gy | (1)

Write the full name of T.D.S.

vi)UH BT & A B [JaRoT # 39 3 @1 sl &I #al & A forar? (1)
Give the name of any two items of statement of profit & loss of a company under the
heading of other income?

Vi) Tl 9 TH SRTeR & ARIER 8 | S99 &1 1/4 91 & ford gawr fan| vat, v ud
U T =T 9 fJUTST 1gurd e T ? (1)

L and M are equal partners. They admitted N for 1/4 share. Calculate new profit sharing
ratio of L, M and N?

viii) 15T HFO=1 T AT BFal | Blg ol 3R forlRay ? (1)
Write any two difference between private company and public company?
ix) 3AfEAT / BRIG BT U [hY PHad & ? (1)

What is Gaining Ratio?



X) FOUF B HFN & g 0 H fow e & siavia femn smar g 2 (1)

In which heading debentures are shown in the balance sheet of the company?

Yrg — ¢
Section-B

THTRTHAS U : (STR G AT I THIT 50 IR

Short answer type questions: (Answer word limit approx: 50 words)

4) TSGR fIeg | oMY T F9d © °3QH M i S aTel dis aR fa=g forRay |
(2)

What do you meant by Partnership Deed? Give any four points to be described in the

partnership deed.

5) Ife foell I @& fUBel 4 quT & AT BT Gl AT 240000 FIY 2 TG AR

U &R 10% © | SIaER B el TR 480000 HUJ T 9184 ST 80000 WU @

ar 3ia ol @ YoIldRUT & IMER YR AT @I AT ST ? (2)

A sum total of last 4 years profits of a business is Rs. 240000 and normal rate of return is

10% Calculate the value of goodwill by capitalisation of average profits if the total assets
of the business is Rs. 480000 and external liabilities are Rs 80000 ?

6) 1T & HIRT o4l @l 32 # dicd U WIEaR © | S5 Afdsy § A4l Bl aRIeR—aRIER
gicT &1 Freey {631 | @I Ud BRIg @ gUrd &1 ITIET STy ? (2)

Radha and Meera are partners sharing profits in the ratio of 3:2. They decided to share

profits equally in the future. Calculate sacrificing and gaining ratio?

7) Qad, 9% AT Of€ U BH H 324 H WEER © | 918 ® WAINgd 89 UR Ud qAl
SIS A Al Bl aRER died DI Feed {HAr| S9 GHI BH Bl A BT Jedid 1,20,000
w0 R g | a9 snfa @ @ @fd @ 99y | Eaead o ufaftedr
AT ? ()

X, Y and Z are partners in a firm sharing profits in the ratio of 3:2:1 At the time of Y's

retirement X and Z decided to share profits equally on that time the goodwill of the firm
valued at Rs. 1,20,000 Pass the necessary journal entries for the treatment of goodwill

without opening goodwill account?



8) U& BH & fIeed & 9T Iaxgell WA &1 A1 ¥ 72000 ©UI AT | HH & ARIGER R,
3| g TR BT A [T SUTd 7:3:2 T | IGell WA & AT B SRR Bl Ufdfte
Afwy ? @)
At the time of Dissolution of a firm the debit balance of realisation account was Rs.
72000. The profit sharing ratio of the partners Hari, Om and Shankar was 7:3:2. Give the
journal entry of transfer of the balance of realisation account?

9) HFIAT SARAIH 2013 BT URT 43 & AR A T 7 © 2 (2)
What is preference share under the Section 43 of companies Act 2013?

10) R fafacs 9 urdl fafacs & fafdy awafoat 1500000 9 &1 @WEdT qer fafae
SFER 300000 ®UY BT Fb B RERT 41 off | B fafice 7 ufdwad & w9 H
100000 “YI FAHE Ud Y AR T 100 HYJ dTcl 9%  FUTH 10% WITHIH TR SIRT {5 |
R fafics @ el # mawe SiHa gfdftedl difs | 2)
Shipra Ltd purchased sundry assets of Rs. 1500000 and also took over the liability to
pay sundry creditors of Rs. 300000. Shipra Ltd paid Rs. 100000 in ~ purchase

consideration and issued 9% debenture of Rs. 100 each at 10% premium for remaining
amount. Pass the necessary journal entries in the books of Shipra Ltd.

11) =1 fdaRon | <TeT A1 SIUTd &I UMD BISR | B & YT oM 140000 WU,

PR DI TN 30%, 10% QIHdIield 0T 500000 BT ? 2)

From the following details, Calculate interest coverage ratio. Profit after tax = Rs.
140000, Tax Rate = 30%, 10% long term loan = Rs 500000

12) 3ifda foffics & 9 &1 799 S9! g &RTd ShHel: 500000 Ud 800000 ®UJ o
R TR Wfdd gRT HHS: 350000 T4 440000 WU 0T | g IUTIRId B & UTard Il
el DI UfIRET o & 10% o™ WR 99 &A1 | |t Ubs Jars S1d dbifog ?

@)
Ankit Ltd has two machine costing Rs. 500000 and Rs. 800000 on which accumulated
depreciation was Rs. 350000 and Rs.440000 respectively after charge depreciation on
both machines. They were sold at a profit of 10% on depreciated value. Calculate

total cash flow.



13) ST IR 9% T ®H H AEIER 21 9 ol & 32 # ffod axa 21 S/ 6% 3l
T AR d wU H gdy foar| sHe o’ O gRT S1ue Ry BT 1 /4 91T Ud 9
SRT 39 &y &1 1 /3 T AT fbar | o s vd s &1 a1 o favre=
AT ST IS 2 ()

Jai and Veeru are the partners in a firm. They shares profits in the ratio of 3:2. They

admitted Dheeru as a new partner. For this Jai sacrificed 1/4 of his share and Veeru
sacrificed 1/3 of his share. Calculate new profit sharing ratio of Jai, Veeru and Dheeru.

14) G, T UG 3R U BH ¥ WEER ©| Idl oM [G9SE urd 21111 8| & Bl
QAIGRT IR FHT GRS B & UArd Ul d AR DI Yol bl STHT 2T HHIT: 164000
I UG 82000 WUY T | T8 BH HI Yol 240000 w AREd @ € S Hl AERR
AT IS U | R | WY AEERI §RT 15 s AT SHD1 I B T3 AR B
T X Ud 3Maedd Sivel gfaftedi o | 2)

P, Q and R are partners in a firm. Their profit sharing ratio 2:1:1. On Q's retirement after

making all adjustment the credit balances of P's and Q's capitals are Rs. 164000 and Rs.
82000. New firm's capital is decided at Rs. 240000 Which they will keep in profit sharing
ratio. Calculate the actual cash to be brought in or to be paid off to the continuing
partners and pass the necessary journal entries.

15) M@ ® IR W AT G JFEAT YAl Bl qHSSY | (2)

State the meaning of redeemable and irredeemable debentures on the basis of tenure.

Ylsg — ¥
Section-C
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Long answer type questions: (Answer word limit approx: 100 words)

16) XM T PO Th BH H o B B 31 H dicd gY AIBIER & | ITdhI a9y 2021—22
DI 37f~aH Yoll sHH: 300000 FIY T4 150000 ®UI & | 99 & QR QI & NS0T
AT 40000 WYY TG 10000 HUY o S8 ST Yoil @rdl § A B (&1 1T o |
Uoll TR &S oW | Yd @ 32000 S o1, 54 I9eb Yoil @il H§ ST &R
& 1T T | HWT 01 I[FCER 2021 I IffIRET Yol 32000 ®IF HH H AT & |
USll OR TSl Bl ITVFT 12% Ffaday &I &% A N | (3)




Ram and Krishna are partners sharing profit and losses in the ratio of 3:1. Their
Capitals at the end of the year 2021-22 were Rs. 300000 and Rs. 150000. During
the year the drawing was Rs. 40000 and Rs. 10000 respectively which had been
duly debited in their capitals. Profit before changing interest on capital for the year
was Rs. 32000 which had also been credited in their profit sharing ratio. Krishna
brought an additional capital of Rs. 32000 on 01 October 2021. Calculate
interest on capital @12% p.a. for the year.
31qar/OR

M, T 3R AET U BH H o™ Bl ®I 3211 § dicd 8¢ AIBER © | AIRER]
el @ 3T AR—

1) ATRIERT BT Goll TR AT 5% aT¥d oA BT |

2) T BT 50000 BUY DI ATH DI TR BH §RT & T3 T |

3) WIEIGRI @ Yol WAl & URME SF1 ¥ HAIE M— 500000 ©UI, TTH—

300000 ®UY 3R AIET— 100000 HUY o |

4) JMERVT TR FTol HAY: TA— 1000 HYY WMH— 500 HYI AR AGT— 500 ST

I far S 2|

Y 2021—22 H BH BT @9 1,71,000 BYI oAT| 99 2021—22 & foT¢ o &I

ERISEEEISIICRIERE

Ram Shyam and Mohan are partners of a firm sharing prohit in the ratio of 3:2:1 . Their
partmership deed provides the following-
(1) Intenest on Capital payable to partners @ 5% p.a. .

(2) Guarantee of profits to shyam Rs 50,000 given by firm.

(3) Opening balances of partner's capital a/c respectively Ram - Rs 500000, Shyam - Rs 300000
Mohan - Rs 100000 .

(4) Interest on drawing to be charged as Ram- Rs 1000 . Shyam -Rs 500 and Mohan - Rs 500.

Profit for year 2021-22 was Rs 1, 71,000. Prepare Profit & Loss Appropriation account for the
year 2021-22.

17) ®H & fdged R 4 agRl & Ao ufaftear v — (3)
AT & §RT BeiTeR Bl 40000 HU H foram 17 |

R 3IRad F=RT ®I 999 IR 25000 WU G gU |

gl R ™ B RART 75000 wUI Bl Alfed G Afed 7 3:2 H A9IR7d foban |

Give the journal entries from the following transaction on the dissolution of the firm -

Furniture is taken over by Mohit at Rs. 40000



Rs. 25000 realised from the sale of an unrecorded asset.

Profit on realisation amounting to Rs. 75000 distribute between Mohit and Rohit in the

ratio of 3:2

31d1/OR
ATER BH fages a1 g ? AEer &I fJued ok WEeR BH &1 faged # iR
TS |

What is dissolution of a partnership firm? Write distinction between dissolution of

partnership and dissolution of partnership firm.

18) Fr=fotRad ol | AMUTRS YT 3MTad TUTd &I ITOET DI — (3)
Ul ¥ el NH = 800000 WU

U™ § Feha N = YTl | del IATTH DI 15%
1 31Ul 2021 I JTURE YT =60000 HTA
31 AT 2022 BT AURS YT = 100000 HII

Calculate Trade Receivables turnover ratio from the following information.
Total Revenue from operations = Rs. 800000
Cash Revenue from operations = 15% of total revenue from operations
Trade receivables as at 01.04.2021 = Rs. 60000
Trade receivables as at 31.03.2022 = Rs. 100000

31e1d1/OR

3T Uh HH I K0T I &THAT BT I b HYl ?

How would you study the solvency position of a firm ?
19) Fr=feiRad gaemell 9§ fawi fohardetdl | b Yarg & UReaT & —  (3)

01 3TUST 2020 BT SIHdBTNT R =1200000 HII

31 A 2021 BT BT T =1400000 HUY

gy & SRIE HHIHT - 300000 ®UA & KON DI Fabell fobaT |

Calculate cash flow from financing activity from the following information.
Long Term Loans as at 01.04.2020 = Rs. 1200000

Long Term Loans as at 31.03.2021 = Rs. 1400000

During the year the company repaid a loan of Rs. 300000



31d1/OR
e Yarg fqaRor 999 &1 T IgeeT & 7 Uareld [l | Jdhs iddig AR yare

foharell | s dfdig Gael #¢ 9dsU |

What are the objectives of preparing cash flow statement? Write the name of items

related to cash inflow from operating activates and cash outflow from operating

activities.

Yls —
Section-D
frdaTHe 99 : (SR esq HIAT N THIT 200 Ieq)
Essay type questions: (Answer word limit approx: 200 words)

20) 3R 3R 3[HER Uh HH H AEIER B 9 M &I 21 § dicd 8 | T BH H 1/4
R & o) Uder o_am 21 98 HH H 300000 WUI T Yol IR RATT | AR G 3HaR
D Yol D A9 9IS U @ SR WX WA &I SIRAfT | 31 ATE 2022 Pl
I @ Ul W Yd BH Bl fagr FrEfoied g - (4)

31 ATd 2022 PT MR T 3ha¥ &I 9T

IR T (%) | aRewtEl T (%)
IR 80000 TERY AHS 20000
<7 fau= 40000 CEaS NGRS 100000
A ad 60000 fafdy <o 80000
gl NSIED 100000
3R 500000 HATER 50000
3ThHeN 320000 | 820000 ERIER 250000
Ha 400000
1000000 1000000
TSI B Y I T § -

1. T=IMI 120000 B9 &I IR ST & FY H ARAM |

2. SERI W 6% B &R W S KU & [o1d Yrggr o |

3. 9d9 450000 HYY T4 HIIFNI 230000 U TR HAifdhd B SR |

4. Tl WA WIABR AR, HER R Yol B Yol & FHRIS fhar SR |
3eDh TSI AT Yol & YdST & YT Jof U3l dAR B |




Amar and Akbar are partners in a firm. They shares profits in the ratio of 2:1.

Anthony admitted in the firm for 1/4 th share. He will bring capital of Rs. 300000.

The capitals of Amar and Akbar will be adjusted in their profit sharing ratio. The

Balance sheet of the firm as on 31st March 2022 before the admission of Anthony.
Balance sheet of Amar and Akbar as on 31.03.2022

Liabilites Amount (Rs.) | Assets Amount (Rs.)
Creditors 80000 Cash in hand 20000
Bills Payables 40000 Cash at Bank 100000
General Reserves 60000 Sundry Debtors | 89000
: 1
Capital Stock 000%°
i 50000
Amar: 500000 Furniture
820000 ' 250000
Akbar: 320000 Machinery
400000
Building
1000000 1000000

The other conditions of the agreement are :-
Anthony will bring Rs. 120000 as his share of goodwill.
Provision on Bad Debt will be made at 6% on debtors.

Building and Machinery will be valued at Rs. 450000 and Rs. 230000

> b=

The capital account of Amar, Akbar and Anthony are to be adjusted by opening

current account.

Prepare necessary ledger accounts and Balance Sheet after Anthony admission.
31211 / OR

T Bl 37f gATgy | T & HedlhT @l (A&l bl HHSISY |

Explain the meaning of goodwill. Describe the different methods of calculation of
goodwill.

21) Siaad fIffice 9 10 HUY dTel 50000 FHAT A 10% WHIH W) o+ar | fifaa
fhl | g ofer R < NIt e g oft - (4)
3MMded W) 3 ®W
3Mded W 4 v (N afzq)
g AT R 2 ®h
fgda 7T W™ 2 TR



Delux Ltd issued 50000 equity shares of Rs. 10 each at 10% premium. The
amount payable on each share as follows:-

On application - Rs. 3 per share

On allotment - Rs. 4 per share (including premium)

On 1* Call - Rs. 2 per share

On 2™ Call - Rs. 2 per share

31211 / OR
g9 faffes = 10 U dref 10000 31T 11 ®UY Ui 3 W SHdT ¥ FfFe™=

& fory i | e o7l WR IRAT 7791 UhRR & —
AMIed W — 3 ™
e W — 4 wud (A AiEd)
gerq g Iffead HIT W — 4 B9

12000 3f3T & ol IS U BY 3R HATADl =1 Tl Pl U 3fde T |
2N ot S8 120 3 & o e fbar d raed a AN AR B YIaH
BT H IAHA T |
i fasr =@ UrF 200 371 & 9 AFT AT & A A H Hel I8 | 59 A4
3 T STed R forar 13 |
SWRIFT FAERI I Tal yfafteal I |
Sunshine Ltd. offered for public subscription 10000 shares of Rs. 10 each at Rs. 11 per share.
The amount payable on each share as follows:-
On application - Rs. 3 per share
On allotment - Rs. 4 per share (including premium)
On 1* and Final Call - Rs. 4 per share
Applications were received for 12000 shares and the directors made pro-rata allotment to all.

Mr. Ajay who applied for 120 shares could not pay the allotment and call money.
Mr. Vijay holder of 200 shares failed to pay the call money.
All these share were forfeited. Record the Journal Entries for the above transactions.

22) 31T fIfics = 01 ARl 2021 BT 100 HUY YT FOTOF dTel 100000, 8% FeUTIH 9%
e R frifaa f6a | ufovifa Wiffm S99 &1 9w 800000 U 2| IfT F0MF 5 I9
geard 5% WA R WA § A d9cel /81N &l ufoiRad &_d 8¢ Uy e
[T RISHREET gfdftear Sifr | (4)

Alfa 1td has issued 100000, 8% debentures of Rs. 100 each at a discount of 9% on

January 01, 2021. The company has balance of Rs. 800000 in securities premium reserve.



If the debentures are redeemable after 5 year at a premium of 5%. Pass necessary journal
entries for issue of debentures and write off discount/Loss on issue of debentures.
3qdar / OR
FAUTRad gfofd & w0 § FouEl & FREE ¥ eMY w1 9Hsd § 7 S 9Tl
qedehl H e UhR fe@mr Sirdm & ?

What do you meant by debentures issued as collateral securities? How it is shown

in the books of accounts?
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GENERAL INSTRUCTION TO THE EXAMINEES :
1. TRIeTef AU JUe IR UF W Aie AR o |
Candidate must write first his/her Roll No- on the question paper compulsorily-
2. 91 o AR A 2 |
All the questions are compulsory-
3. UUh U Pl IR & Mg IR IRADT | B ford |
Write the answer to each question in the given answer book only-
4. TS 927 7 SAT<IRD WS & S Fl & SR Yo 7ef & ford |
For questions having more than one part] the answers to those parts are to be written together in continuity-
5. U &1 IR fore= ¥ gd U &1 HHid 31aeg ford |

Write down the serial number of the question before- attempting it-

6. Ue UF & f2=dl 9 IS SURYl # Bl ypR &1 Ffe | o/ fRumv g ) 2=
AT & U &l & Fal J |

If there is any error/difference/Contradiction in Hindi & English versions of the question paper, the question
of Hindi version should be treated valid-

7. U9 B 16 W 22 § IR Ahey 2 |

There are internal choices in Question No. 16 to 22 .



L — I
SECTION-A

1. SgfAB 7= (1 | xv):

71 ael & SR @1 W8 APy 999 W) SR gRaaer | fafay |

1. Multiple Choice Questions: (i to xv)

Choose the correct option and write in given answers book.

() Ye* BT AR § ?

(a1) e @) =
GIREREN! (g) e

Essence of management is-
(A) Direction (B) Coordination
() controlling (D) organization

(i) TR BATA gRT Ta=T & b Rigr a1 3 § ?
(&) 13 @) 15
(@) 14 () 12

How many principles given by Henry Fayal ?

(i) YRT TRBR = 500 HYY AR 1000 TYI & Alel & fAfmrgar fea fafer o

FHI BN &1 P

(31) 8 TawR 2017 (@) 18 TawR 2016
(|) 8 -TgwN 2016 (]) 8 faHaR 2016

On which date did the Govt- of India end the legal Validity of 500 and 1000 rupees notes ?
(A) 8 November 2017 (B) 18 November 2016
(C) 8 November 2016 (D) 8 December 2016

(iv) Frgfpavor # wnfia g
(a1) it (@) =

() wfereror (@) SWREd T

(1)



Staffing includes -

(A) Recruitment (B) Selection
(C) Training (D) All of the above
(v) TBet & I8 femy &xm o Wfdss #§ @ BRAT © q9T DY HRAl & dEed 2= (1)
(o1) o (@) forcem
(%) fergaror (@) Fraem
Deciding in advance that 'what to do' and 'How to do' is called
(A) Coordination (B) Direction
(c) controlling (D) Planning
(Vi) JMILTTHAT HH—INMAROT BT RIGT & STHID DI © 7 (1)
(31) SITet 2= (@)3fd®
(4) T ward (3) 3rETEH HIXl
Who developed the 'Need Hierarchy Theory of Motivation' ?
(A) George Terry (B) Urwick
(C) Henry Fayol (D) Abraham Maslow
(vii) fer=roT Ufohar & =RT B (1)
(1) ar= @) IR
@) B (®) o=
Steps of Control process is -
(A) Five (B) Four
(C) Six (D) Three
(viii) =T & 1 et wwfy EY ® ? (1)
() = (@) wa



Which of the following is not a fixed Asset-

(A Land (B) Building
(C) Factory Machine (D) Debtors
(ix) gofl =T 3 w@rinTg e | |ffad 8- (1)
(@1) =T uH (€) FHT 37
() qaiferpR 3 (8) FHaT Ud qaifeR <l
In Capital Structure, Owner's Fund includes
(A) Debentures (B) Equity Shares
(C) Preference Shares (D) Both Equity and Preference shares
(x) /=1 & | Fed AT BT ISR 8l B — (1)
(e1) % (9) &
(w) et gU U (3) 377 3 BIE
Which of the following is not the example of raw material?
(A) Cotton (B) Thread
(C) Stitched clothes (D) None
(xi) DTS Yo B ITUET H GF o— (1)

Formula of calculation of working capital is-
(A) Current Assets + Current Liabilities
(B) Current Assets - Current liabilities
(C) Liquid Assets - Current liabilities

(D) Current liabilities - Current Assets



(xil)ABIAT B wR & — (1)

Levels of packaging are -
(A) Two (B) Three

(C) Four (D) Five

(xii)) TS BT I8 AT T YBRT T2l ST FhdT b S Ugar ST Fhdl & Haclidl & —

(1)
(e1) 5T T @) sie o=
&) g A (@) 37 &1 BE R
That Part of a brand which cannot be spoken but which can be recognized is called -
(A) Brand Name (B) Brand Mark
(C) Trade mark (D) None
(xiv) STHIRDT AREOT SMATIAT 2019 T i BT 3 forar & — (1)
(1) srfefrH 1986 (&) &4 2000
() srfRfEH 2012 (@) srfef=H 2015
Consumer Protection Act 2019 has replaced................
(A) Act 1986 (B) Act 2000
(C) Act 2012 (D) Act 2015
(xv) TSI AT BI AR T & faral $H Gars &1 ARTHR U & — (1)
(&) T IS ©UY T (d) T RIS ¥ HAferD
(¥) 50 9IRg ®©UA TH (3) 50 oG ®U ¥ 3D

District Forms has jurisdiction to entertain the complaints to the extent the amount of -
(A) Up to One Crore Rupees (B) more than One Crore Rupees

(C) Up to 50 Lakh Rupees (D) more than 50 Lakh Rupees



2. e Il 31 9T ST (1 9 i)

2. Fill inthe blanks (i to VII).

() P B <LATH AN TR FE T A BIAT BHEATT T | (1)
Doing the task correctly and with minimum cost is called.......................
(i) e @1 eref B CARACEIN (1)

Planning means looking.............

(ii)) STg o o &1 IfYPR BHae S Ua=I & T BIAT 8 T S oo
ST PEd © | (1)
When decision making authority is retained by higher management level is called................. Organization.

(iv) T AT ARe H UdId gRT HAIRA] & B H ARG UG &Rl

............... BEATT ¢ | (1)
In an business organization, guiding employees in their work by management is called ...........
(v) orerRal &I fe goll & Ufahel & WU H ... fHerar T | (1)
Share holders gets. ................. in Consideration of their share capital
(vi) FRITST TG o U & AYATFHUI I (TS0 T | (1)
Planning and.............. are the inspirable twins of management.
(vii) THeY o @ di€ AT ID (BT |RT BT BT GREOT YT {HAT ST ...
HEATT T | (1)

A brand or part of a brand that is given legal protection is called.............

3. SIfTeTgeRIES U9 (1 ¥ X)
3. Very Short Answer Question (I Kl X)

() SER @ el & W @ 7 ? (1)

What is the rule of Thumb?

(i) IS &9 ARfeeE Ue dRar g ? (1)
How does planning provides direction?

(i) e @ dig <1 W] falag ? (1)
Write any two limitations of planning?

(iv) fad=iipa e &1 ef garsy ? (1)
Explain the meaning of decentralized organization?

(v) PHATRAT & ¥l & BIs &l bR forkgy ? (1)

Write any two types of recruitment of employees?



(vi) <Iga B ot Aferal & AW foRag ?

Give the name of 'Leadership Styles'?

(vii) Fra=or ufshar # 3Uare §RT U 91 § 7

What is 'Management by Exception' in controlling process?

(viii) YOI HR=AT BT T et 7 ?
What is meant by Capital Structure?

(ix) faspa daeq @1 eref qargy ?

Explain the meaning of Sales Promotion?

(x) SUHIET DI BT & 7
Who is Consumer?

Yug—¢
Section-B

TLRTAD UL (4 9 15)

Short Answer Question (4 to 15)

1 ool @& SR UP dfe A7 SR
4. TG DI AT AR G| HT ST & ?

Why management called multi-dimensional concept?

5. U &I blg &I [IRINag FHSSY |

Explain any two characteristics of profession.

6. AIUT 2RIAT 3R FHAT D' P NG $ IR H F&Y H qaqrgd |

Breifly explain the concept of "Scalar Chain' and 'Gang Plank'

7. ATGATRIG GITROT & Bis IR dodi bl FasIgY |

Explain any four dimensions of Business Environment.
8. o & PIE—aR faRvan gargy |

Give any Four Features of planning.

9. ANTRP Td IFHU=TRD TS H Plg IR <R ddisd |

Give any Four differences between Formal and Informal Organization.

10. PHATRIAT B 9l & & FId S AT BT FHSTSY |



Explain the importance of External Source of Recruitment.

11. IR AT FUNYT & A= -Teds FHsISY ? 2)

Explain different network of Grapevine Communication?
12. foRI=oT BT 312t U BT BIs AR AW IRy | (2)
Write the meaning and any four Limitations of Controlling.

13. fafkra ofg &7 g9Ifdd &4 91l BIS IR BRG] BT U DI | 2)

Describe any four factors affecting financial decision.
14. fquoE A1 @ IR 91 & W B | 2)

Explain four categories of Marketing Mix.

15, SUHRHT GReT0T AT 2019 & 3I=Td, ST JAMANT T AT AT §RT STARD
Rrerrdl &1 IR f geR foar Sirar g 7 2)

Under The Consumer Protection Act 2019, how the consumer grievances are redressed by State Commission
and National Commission?

WUs—
SECTION-C
<Te SR U9
Long Answer Question
16. ToR @ dS® Ua & Mg & IR § FHsmSY | (3)

Explain Taylor's scientific management Principles
OR/JAAT

Ug] & & H g% BATT b NS Hl WK BN |

Discuss the Henry Fayal's Contribution in the field of management.
17. HHAIRAT & YRIETT BT 34 7 Sife ARl iR <ife g Sife Aty &1 aoe a8 | (3)
Describe 'On the Job' methods and 'Of the Job' methods of Employee's training .
OR/ 3AJdT
fFgfthaxor a1 87 g8 fAfi=1 =Rol &1 auie o |

What is 'staffing'? Explain different steps of it .

18. WIcATes &1 & ? faxi oiR iR faxia micare @t faftrt &1 awsmsy | (3)

What is 'Incentives'? Explain Financial and Non Financial Incentives.



OR/31IdT

fcer o1 oref THsmsy | 9@ favvaret &1 guie BT |

Explain the meaning of Directing. Describe the characteristics of it .

19 ARARI ITHIFAT ARET0T AR 2019 & AR, ITHIET & JTHR WK BRI | (3)

According to Indian Consumer Protection Act 2019, Clarify the Rights of Consumer.

OR/JAAT
SOHIGT FRET0T AR & Agd Bl AHESY |
Explain the importance of Consumer protection Act.

Yuvs—
SECTION-D

EEECIRCCES!
Essay Type Question (200 Words)

20. T3 &7 31 FT § ? WIS Bl UlhAT & IR H FHSISY | (4)
What is the meaning of Organization? Explain the process of organization.
OR/31IdT
3RO T &7 <RV & Aeed & (A= =gl &l FHsIsy |
What is Delegation? Describe the various Point of Importance of Delegation.
21. I goll 7 87 il 4ol &l JwIfdd =1 Tl gcdhl &1 auid SIS | (4)

What is Fixed Capital? Explain the factors affecting Fixed Capital.

OR/3T2TdT
FHraeie gofl &1 1ef foRey | wriefia golt & gvifdd a”e aTel dR&I & 9ol B |

Write the meaning of Working Capital. Explain the factors affecting Working Capital.

22. fASU WR fham T I T SIS 90y & | 9T 3T 39 $IF I Igqd 8¢ 59
HU- P Uel Uq fquer § aroe faam R | (4)

The expenditure on advertising is a social waste. Do you agree with this statement? Give your views in
favour and against of this statement.

37e1dT / OR
= &1 W P |
() IUTET BT ARV (B)IUTE &l AR
() fashY @1 sraaRem  (p) fauyoE Y srgerREm

Explain the following-

(A) Concept of production (B) Concept of Product

(C) Concept of Selling (D) Concept of Marketing
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wer — XII
v — wforg
afer — 3 =ve 15 fiFe Uit — 80
1. I BY APUR —
.. SEGEu KN gferer
1. |3 24 30
2. | 3@y 20 25
3. | SFUART / srfveafad 24 30
4. | B /Aiferdarn 12 15
IRT 80 100
2. Ul B YPRAR IHPIAR —
i e | ufd g @@ ) | Geien | 9
1. | TGS 15 1 15 18.75 29.41 30
2 | Reg e 7 1 7 08.75 13.73 15
3. | SfdeTgRIeA® 10 1 10 12.50 19.61 35
4. | THURIHD 12 2 24 30.00 23.53 45
5. | USRI 4 3 12 15.00 07.84 35
6. | MegTHD 3 4 12 15.00 05.88 35
IRT 51 56 100.00 100.00 | 195 fAc
hey I+ : Tvs ' U T H E |
3. fawg a¥g &7 PR —
.. T g PR | Ufcrerd
1 | g Ud Bole 3 03.75
2 | yfaet®m Beoada Bhed 4 05.00
3 | 3MYE 5 06.25
4 | gt 5 06.25
5 | AIddl Ud dhel-ad] 8 10.00
6 | 3fadberoll B IIUINT 6 07.50
7 | \gHIDfH 12 15.00
8 | AHIHA & SITUAN 4 05.00
9 | 3Tddhol THIHNY] 6 07.50
10 | gfeer dorrforg 7 08.75
11 | B sofafy 9 11.25
12 | g U= 4 5.00
13 | UTlyahar 7 8.75
T 80 100.00
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Senior Secondary Examination, 2024
THAT UR1-UA
Model Paper
fawa — fora
Sub : Mathematics
e — 1291
Class : 12"

AA: 3702 15 fire quTid: 80
wenfdt & fore |y fAden

GENERAL INSTRUCTION TO THE EXAMINEES :

1. GRIereff AT U Ued UF WR AWie ifaria: ford |
Candidate must write first his/her Roll No- on the question paper compulsorily.
2. O U9 A Mfart 2|

All the questions are compulsory.

3. U U Pl IR & Mg IR JRAD1 A 8 ford |

Write the answer to each question in the given answer book only.

4. 511 U991 & 3IR® Wos 8 S 99 & SN T 91T B ford |

For questions having more than one part] the answers to those parts are to be written together in
continuity.

5. U9 &1 IR fore ¥ gd U &1 HHid 31aeg ford |

Write down the serial number of the question before- attempting it.

6. U UF & f2=dl G Ul ®U=RY H BT gpR @1 Ffe /3R / faRemrg 8F w)R
R AT & T Bl B AS A |

If there is any error/difference/Contradiction in Hindi & English versions of the question paper, the
question of Hindi version should be treated valid.

7. U3 B 16 W 22 ¥ IR Ahey 2 |

There are internal choices in Question No. 16 to 22 .



(i)

(iii)

qgfdeedld e —
Multiple choice question

9 R 5 f:R = R, f(x)= (x)’gRT uRwifya & a1 981 Ry &1 a9 B |

. f BB MREEH & 9. f 9gUDI IMTBEE &

. f Thdl § UR IMWIEH el & & f7 Al Thd! g 3R AT 8 MmsIed 5(1)
Let f:R—> R, be defined as f(x)= (x)* chose the correct answer

(a) fis one - one onto (b) fis many — one onto

(c) fis one - one but not onto (d) f is neither one one nor onto

sin{% — sin‘l(—é)} a1 A R -

3. dq. .

N |~
Wk
NN

Tl (1)

sin {% —sin~1(- % )} is equalto-

1

(a) (b) > (€=  (d)1

N |-

A NTY f5 X, ¥,z W TIT P A9 2XN, 3Xk, 2Xp, N X3TA p X k difedr &
Mg &l Ik n=p a1 Mg 7X — 5Z & dIfe & —

A px2 g.2xn dnx3 TpXn (1)
Assume X,Y,Z, W and P are matrixof order2xn, 3xk, 2xp,nx3 and pxk
respectively if n = p then the order of the matrix 7Xx — 5Z is .

(@) px2 (b) 2xn (c)nx3 (d)pxn

" | )2(|=|168 é| o X A E -
3.6 96 . -6 30 (1)

if|1X8 )2(| = |168 §| then x is equal to —

(a)6 (b) + 6 (c)-6 (d) O



(v)

Hecos(sinx) &T fadersl a—
3. sin(sinx) 9. sin(cosx) 9. -sin(sinx) g—cosx sin(sinx) (1)
the derivative of function cos(sinx) is

(a) sin(sinx)  (b) sin(cosx)  (c) -sin(sinx) (d) —cosx sin(sinx)

(vi) & gd @ B r = 6cm, W r & AU %o H aRadd @l &% &

3. 10m 9. 12m 9. 11mn T.8m (1)

The rate of change of the area of a circle with respect to it’s radious r at
r=6¢cm is

(a) 10m (b) 121 (c) 11nm (d) 8m

(vii) [logx dx @1 79 % —

3. logx-x+c 4. 1+logx+c 4. x(logx-1)+c < x(logx+1) +c (1)
The value of [ logx dx is -

(a) logx-x+c (b) 1+logx+c (c) x(logx-1)+c (d) x(logx+1) +c

(viii) sr@det @R |1 + (d—y)z = a(%)ga% o 8 —

dx

3.1 q. 2 .3 T 4 (1)

1
2 2 N>
The order of differential equation _|1 + (d—y) = a (ﬂ)3

dx dx 2

(a) 1 (b) 2 (c)3 (d) 4

Hﬁaﬁﬁlﬁzﬁﬁvﬁﬂﬁawﬁwwé%|5’|=3,|B)|=‘/3—§a—sfaxﬁw
A Afer Al 3 dTh @ " T ¥ —

T T T
S q. = N = <.
6 2 4

w3

(1)



- g — g 2 —
Let the vector @ and b be such that [3] = 3, |b| = \g——then axb
ls a unit vector, if the angle between 3 and bis

(@ =b)S(c)>  (d)3

(X) Wx+1:2y—2=3;zzx$ﬁ_£ﬂqﬁ%_

2 4
3. 2,4,3 ¥.2,2,3 9 .2,4,-3 g. 2,2,-3 (1)
Direction ratios of line = = 22 — 372 _ ) js

2 4 3
(3)2,4,3 (b) 2 12 r3 (C) 2/ 4 ;'3 (d) 2121-3

. Cx+1  y-2  z+3 x-1  y+2 z-3 :
(xi) et . =y5 == and - =y2 =_3:F7H%?IW%\'—

a1, 45° g. 30° 4. 60° <. 90° (1)

The angle between the Straight lines

X+1 _ y-2 _ z+43 and x-1 _ y+2 _ z-3 i
2 5 4 1 2 3
(a) 45° (b) 30°(c)60° (d) 90°

(xii) gax? + y? = 4%1 &% & —

32T g 16T 4 T.

1S
—_
H
S

The area enclosed by the circle x? + y? = 4 is

s

(a) 2m (b) 16m(c)4m (d) =

4

(xiii) g% y2 = 4x,y 31&7 vd @1 y=3 ¥ foR &5 &1 eFhd & —

3.2 q.

(1)

L Ne)
N |

9
. = <.
3

Area of the region bounded by the curve y? = 4x, y axis and the line y=3
is -

(a) 2 (b) = (c)2 ()
(xiv) afe P(A/B) >P(A) @ 1 § & 9@ © —

3. P(B/A) < P(B) 4. P(ANB) < P(A).P(B)



4. P(B/A) > P(B) <. P(B/A) = P(B)

if P(A/B) > P(A) then which of the following is correct

(a) P(B/A) < P(B) (b) P(AN B) < P(A).P(B)
(c)P(B/A) > P(B)(d) P(B/A) = P(B)

(xv) @R P(A)==,P(B) = 0 di P(A/B) & -

3. 0 q. . gRYNT w81 T 1

N |-

IfP(A)== , P(B)=0 then P(A/B) is
(a) 0 (b) S{c)not difine (d) 1
2 Reaw vt @ off AR -
Fill in the blanks
(i) tan™1v/3 —sec™1(=2) BT AT v g (1)

The value of tan ™ V3 — S€C™1(=2) IS vovuevrreerreererecrernnne.
(i) cos™?! (cos%“) Iz 1 A g |
The value of cos™?! (cos %ﬁ) IS treeerreeereeerreesreeereesreennes
(i) tan™' = + tan~12 BT W oo 2
11 4
The value of tan™ = + tan L 25 ..o,
11 4
(iv) afe y=logx ar %= .....................................

_ dy_
If y=log.x then D s

(v) afe f(x) = -1 x+11 + 3 a7 f(X) BT AABTH AT oo =

If f(x) = - I x+11 + 3 then the maximum value of f(x) is .......ccecveurnee.

(vi) eradmd WWUT%+ ysecx = tanx &1 |HIHA qoNd & —

(1)

(1)

(1)

(1)

(1)

(1)

(1)



. . ... d
The integrating factor of equation is d—i’(+ YySeCX = tanX ..ccceevveerneeennnns

(vii) afesr T+ Jor afeer 1 — [oR 9819 2| (1)

(iii)

(vii)

The projection of the vector 1 + J on the vector 1 — Jis ..............

JAfTeTgeRIHD UeT —

Very short answer types questions

2
WX_X+1 X_l‘zmﬂﬁamaﬁﬁm 1
x+1  x+1 | (1)

x2—x+1 x—-1

Find the value of determinate
x+1 x+1

xan e aw B A |2 =% Y (1)
Find the value of x if

|2 4 =|2X 4|

5 1 6 X

3faRTel S BT 8 f(x) = cosx & Ued Ward f q€= 2, 81 0<x<2m | (1)

Find the interval in which the function f given by f(x) = cosx, where
0<x<L2m is increasing function.

frdl SUTE @ X SHISAN & f[AFT & Ura Bl 3 R(x) oAl 7 R(x) =
13x°+26x+15 A yed & | WM o S S g X=7 2 | (1)

The total revenue in rupees received from the sale of x units of a product
is given by R(x) = 13x°+26x+15 .Find the marginal revenue when x=7

1 S
fx+xlo dx 1 A = ! (1)
Find the value of [ ——dx
x+xlo
x -1 1
[ e*(tan x+1+x2)dxav‘r‘~‘ﬂ?r§ﬂ’craﬁﬁ1¥| (1)
Find the value of [e*(tan™?x+ L ~) dx
1+x

IR BIfe aTol T 3TdheT THHRUT b ATYh Bl H ISURYT B IR| Bl G
1T BT | (1)



Find the number of arbitratry constants in the general solutions of a
differential equation of fourth order.

(viii) afer @ = 21 + 3] + k& srfew W wfew sia @ik | (1)
Find unit vector in the direction of vector
a=21+3]+k
(ix) x@my & A4 s Hifrg aife afew 21+ 3] ek xi+y] | &) (1)
Find the value of x and y so that the vectors 21 + 3] and xi + yT are equal .

(x) < wfeei aqer bd gRo B 1 @R 2 9o 3.b=1| g7 @R & FEd B S
DI | (1)

Find the angle between two vector a and bwith magnitudes 1 and 2
respectively and when 3.b=1
TS — ¢
Section—B

TSR U —
Short answer type question —

4. Sita ST 6 arafds et & wzea R+ R* = {(a,b);a < b?, g1
R wide R* 9 a1 Wded, 7 99Hd iR 7 & J&ma 2 | (2)
Show that tha relation R* in the set R of real numbers defined as
R* = {(a, b); a < b? is neither reflexive, nor symmetric nor transitive.

4 g NL| cosa Sina]%’raﬁwﬁﬁaﬁﬁlﬁﬁul/l‘:l

l—sina cosa
[ cosa  sina
If A=

) ] thenverify AA™ =1
l—sina  cosa

3 =2 0 g
6. ?:rf%{A—_4 5 FMTI—[O 1]@/1 =KA—-2] srdr K &1 99 91
P | (2)

B -2 10 . 2 wa
fa=[, “5|and1 =[5 7|ThenFindK, sothat4? = KA 2.




10.

11.

12.

13.

14.

15.

?T%Azﬁ _‘1] HQJTB=[_11 _?)Z]H#Wfﬁ?raé‘rﬁﬁﬁsmg)—lz
B4t (2)
IfA = ﬁ _i] and B = [_11 _32], then prove that (AB)™1 = B71471

kx+1, x<5

K =or =1 s m‘%{f(x)={3x_5 x>5x=5

R add 81 (2)

, _(kx+1, x<5 . :

Find the value of K so that, f(x) = {Sx _5 x>5 is continuous at

x = 5.

TS & f(x) = |cosx| gRT URING Bed Ud Aad Hal & | (2)

Show that tha function defined by f(x) = |cosx| is a continuous

function.

R | 1—X2 d_y

afe y = sin PRk deFrﬂFrgﬂ?raé‘rﬁﬁl (2)
.2

Ify = sin~12 ~ then Find .
1+x dx

feargy f& Ued ®weld f,R W (& G %o § — (2)

f(x) =x3—3x% + 4x,xeR
Show that the function given by f(x) = x3 — 3x2 + 4x, x€R is increasing

on R.
1 .
f1+cot dx 1 A Jd | (2)
Find the value of [ ——dx
1+cot
qB Yy = x2 T ATy = 4 9 R &5 3T &b od BIRA | (2)

Find the area of the region bounded by the curve y = x? and line y = 4.

Rig @R f < wfRwi d @ b & o) wda |d. b| < |dl|b| (2)

d.b| < al|p|

Prove that for two vector d and79),

g faar T 2 f <) Tl B U T B WR UTd dn) e e 2 ) Qe
RN BT AN 4 BF BT UTRGaT od divia | (2)

Given that the two numbers appearing on throwing two dice are
different. find tha probability of the event “ the sum of number on the
dice is 4”



TS — 9
Section—C

BRI DR L

Long answer type question —

16.

17.

18.

[ Vx2+4x—5 dx & 79 51d ARA | (3)

Evaluate- [ Vx2+4x—5 dx
arerar

Or

1. 1 2x
[ sin™! dx &1 A9 99 P |
0 1+x2

1 . 1 2x
Evaluate [ sin™ —— dx

g (—2,3) & oRA aret W 9% BT FHIGR0T S By e fadr g (x, y)
TR T GT B YgorT % = (3)
Findthe equation of a curve passing through the point (-2,3) given that the
slope of the tangent to the curve at any point (x, y)isi—f :

RG]

Or

el 9% # oo @l i r% a1ffe & = ¥ 81 21 IR 100 w9 10 ¥ F A
B O & A+ & 44 =i s |(log, 2 = 0.6931)
In a bank, principle increases continuously at the rate r% per year. Find
the value of r if Rs 100 double itself in 10 year. (log, 2 = 0.6931)

Rt l; 9 1, & 9 3 =gaad 0 91d sy fSee afeer aHieR g -
P=14++3QRIi—j+k)RR #=20+j—k+u@Bi-5+k) (3)

Find the shortest distance between the lines [; and l,whose vector
equations are —

F=i+j+3Qi—j+k)andF =21+ j—k+u3i—5j+k)

3141
Or



7

T X g & HeF DIT ST DI —

— 574+ k+3@31+ 2]+ 6k)aix

— 6k + u(@ + 2j + 2k) (3)
he angle between the pair of lines given by -
i—5/+k+331i+2j+6k)and

#=71—6k+u(+2j+ 2k)

19.  T®H Il H 4 oA 3R 4 Fleh 7S B U 39 Il § 2 Tl Ud 6 Plall g & | QM
Il H A T Irgesd] AT Sl & Ud U Tig Melell STl € S f ol & | 3
1 T T WRGar 2, b g ugel gl A Hdrel T 2 (3)
In one bag, there are 4 red and 4 black balls. In another bag, there are 2
red and 6 black balls. One bag is randomly chosen, and a ball is drawn
from it, which happens to be red. What is the probability that the ball was
drawn from the first bag?
37T
Or
A R 9 e a%m@w%%l@ﬁr&mmw%amA ERISIRRED
for ueRRid g 2| arad W fac usRa 89 @1 a1 wiiedr 2 |
The probability of telling the truth by A is %’ A coin is tossed, and it
indicates that the face is showing. What is the actual probability of the
face being shown?
Ts — T
Section—D
e s get —
Essay type question —
e — s R (4)
" J0 a2cos?x+b?sin?x
T x dx
Evaluate fO a%cos?x+bZsin?x
IDEH)
Or

[Vcotx +tanx dx@r 71 =T B |

Find out [ +vcotx ++tanx dx



21. @R e Jfe FaRe 4 § @ 9 <gAad g3 91d IR — (4)

F=0-01+ (t—2)]+ (3 —2t)ksi
F=(S+1i+ 2S—1j—(2S+ 1Dk

Find the shortest distance between the lines whose vector equations are

F=0-t1i+ (t—2)]+ 3 —2t)kand
F=(S+1i+ (25—1)]—0(2S + Dk

J1erar
Or
. 1-x 7y—14 z-3 7=7x -5 6—z

p ® AN S SIS difds Y@ =X = 3R S sy~

3 2p 2 3p 1 5
RER Aqqd & |
: . 1-x _ 7y-14 _ z-3
Find the value of p Show that lines T = yzp == and
7-7x y—5

6— .
= = SZ are at right angle.

22, fr=faRed @aRmEl & ofdiid z = —3x + 4y &1 M@y A | =geawiaor
AR | (4)
x+2y <83x+2y <12,x=>20,y=0

Minimize z = —3x + 4y subject to constraints x + 2y < 8,3x + 2y <
12,x > 0, y = 0 by using graphical method.

Frerar
Or
Frfoad TRl @ fdid z = x + y &1 ed Ay | A dHIeT SR |

x—y < -1, —-x+y <0,x=>0,y=>0
Maximize z = x + y subject to constraintsx—y < -1, —x+y <0,x >0,

y = 0 by using graphical method.



UII—U3 I IS 2024

Dhedl — XII
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3af — 3 gve 15 e qulids — 56
1, TR BY HPIUR —
% . SEEra JAHIR gfcrerd
1. 13.00 23.21%
REEIC] 18.50 33.03%
SIREIES] 13.50 24.16%
EIRESI 11.00 19.60%
INT — 56 100%
2 gedl & UHRAR AHIR —
3. =T geq gfrerd PESIIG] RER]
1. | TGS 16 Vs 8 31.37 23
2. | Raa = 10 s 5 19.61 12
2. Gﬂaaq\ﬂ? Hdb 8 1 8 15.69 15
3. | TRIAD 12 1.5 18 23.53 65
4. | SrEISTRT g 3 3 9 5.88 35
5. | MeaTH® 2 4 8 3.92 45
IR 51 56 100 195
fdhey AT : o8 '@ 9 'S H B
3. fawg avg &1 FPIR —
sl [EERIEES PR | Tfaerd
1 | EXCEPTION HANDLING IN PYTHON 5 8.93
2 | FILE HANDLING IN PYTHON 3 5.36
3 | STACK 55 9.82
4 | QUEUE 55 9.82
5 | SORTING 65 11.61
6 | SEARCHING 65 11.61
7 | UNDERSTANDING DATA 5 8.93
8 | DATABASE CONCEPTS 6 10.71
9 | STRUCTURED QUERY LANGUAGE (SQL) 5 8.93
10 | COMPUTER NETWORKS 2 3.57
11 | DATA COMMUNICATION 35 6.25
12 | SECURITY ASPECTS 25 4.47
Total :- 56 100%




wer — X

.3 I SPIS /ST SPIg Skl CEICH SHIYANT / STfaefaa PrereT / Ffeteer IRT
1 EXCEPTION HANDLING IN PYTHON 12) | %)
2(2) 1.5(1) 5(6)
2 FILE HANDLING IN PYTHON 7(1) 1(1) 1.5(1) 33
3 STACK 1(2) 1.5(1) 3%(1) 5.5(4)
4 QUEUE (1) | %) 1.5(1) 3*(1) 5.5(4)
5 SORTING 7“(1) | A1) 1(1) | 1.51) 3%(1) 6.5(5)
6 SEARCHING w1 | Q) 1.5(1) 4*1) | 6.5(4)
7 UNDERSTANDING DATA (1) 1.5(1) vi(1) 1) 1.5(1) 5(5)
8 DATABASE CONCEPTS (1) vy | 1D 1) | 6(4)
9 STRUCTURED QUERY LANGUAGE (sQL) | %(1) vy | 1D | 150) 1.5(1) 5(5)
10 COMPUTER NETWORKS 1 | 1) 4(1) 2(4)
1 DATA COMMUNICATION (1) vy | 1D 1.5(1) 3.5(4)
12 SECURITY ASPECTS (1) 1.5(1) v4(1) 2.5(4)
T 7(14) | 3(6) 3(2) 12) | 24) | 88 | 7.5(5) 75(5) | 6(2) 31) | 8@2) | 56(51)
13(22) 18.5(19) 13.5(7) 11(3)

feedl &1 AT -— @S ' TG ‘T ¥ Uhd d U IdRed ey |

Alc— PISh © dEX DI TN ‘DB BT dAT X B G=IT Y © Gldd 2 |

xR
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Tug — (30)
SECTION-(A)

(1) (i) -« UIITH DI I B AT error KA & AT EXCEPION Bovvrrorerreroe

(@) Created (¥) Asserted

() Triggered (%) Raised

When an error occurs during the execution of a Program, an exception
is said to have been .........cccceveuneennee

(a) Created (b) Asserted
(c) Triggered (d) Raised

(i) Readlines( ) HUS ATTH TTT Bovvrrrororrressen

(31 String (&) List
() Dictionary (<) Tuple
Readlines( ) method return ...........cccveveenieeenie...
(a) String (b) List
(c) Dictionary (d) Tuple
(iii) Stack H T elements®I TOP H Siled &I Pad B |
@& POP (&) PUSH
(@) INSERT () (a) (and (b) both
.............. adds a new elements at the TOP of the stack.
(a) POP (b) PUSH
(c) INSERT (d) (a) (and (b) both

(iv) AT Storage fSarsw =

(a1 Hard disk (@) SSD

(%) Pen drive (%) all of the above
Commonly used storage devices .

(a) Hard disk (b) SSD

(c) Pen drive (d) all of the above

(v) o=t # 1 STereE & T § —

(31) ST IR AT & HO Ue] PI UM HRar € | 5 Al aee 91 el
AT 7 |

(@) g ARNe Igqed & forw SeT &l S8 H_ATL 9941 3R \Ug far I = |

() IE il M MR iR Sifeerar &1 8 Ahdr 2|

(]) SURIad T |

V2

2

V2

V2

V2



Which of the following properties belong to the database?
(A) A database is a representation of some aspect of the real world also called mini
world.
(B) It is designed, built and populated with data for specific purpose.
(C) It can be of any size and complexity

(D) All of the above.
(vi) SQL # e wHIvs | <add HUE & 0N Bl gl Sff Fohall & | Vs
@1 Alter Table () Modify Table
(&) Change Table (%) Hide Table
In SQL, which command is used to change a table's storage characteristic?
(a) Alter Table (b) Modify Table
(c) Change Table (d) Hide Table
(vii) A computer Network- Vs

(3) & PHYCR P BISIAR 3R IHSD HCH| BT GIT & |
(@) I8 TR I §RT IRER IS 8 T |
() FHTEA! IR FIRIT BT AT B B AT <l = |
(T) SRIad |47 |
A computer Network-
(A) It is a collection of hardware components and Computer?
(B) It is interconnected by communication channels.
(C) Allows sharing of resources and information

(D) All of the above
(viii) Bandwidth &7 #7a7 ST 28— Y
(31 Byte per second (¥) Bit per second
(9) Hertz () Amperes
Bandwidth is measured in -
(a) Byte per second (b)) Bit per second
(c) Hertz (d) Amperes
(ix) Malware @1 9gdar= ax Sl fBefl HHa0r & A & ufdafa a1 dae 781 995 2 | Ya
(31 Trojans (¥) Worms
(&) Rookits (%) Virus
Identify the malware which does not replicate or clone through an infections
(A) Trojans (B) Worms
(C) Rookits (D) Virus
(x) ............................ TUdh UIg object g Sl Udh error BT TR HdT B | Va
(37 Interpreter (&) Compiler
() Exception (%) Module
..................... is a python object that represents an error
(A) Interpreter (8) Compiler

(¢) Exception (D) Module



(xi) Stack 3TTHROT BT B

@ FIFO (@) LIFO
) FILO (<) LILO

Stack follows :-
(A)y FIFO (8) LIFO
() FILO (o) LILO

(xii) Stack 3R Quene TMI AN &1 & foly fhd ST WA & ITANT fHaAT ST |
(@) Stack (¥) Array
(&) Quene (¥) Deque

Which data structure can be used to implement both stack and quene
(a) Stack (B) Array
(©) Quene (D) Deque

(xiii) 579 &7 I & AlfeIdT § TH 2 Slot H map B & df $H HET of1dl ¢ |
(@) collision (&) Sorting
(7 Searching (%) Merging

When two elements map to the same slot in the hash table its is called.
(@) collision (&) Sorting
(7 Searching (%) Merging

(xiv) fHdl T & GUB DI [T 999 9 3 @+ I gAdaRerd &1 ol ufdhar
HT el ST 2 |
(@ Searching (&) Sorting
(7)) Rearranging (3) Merging
The process of placing or rearranging a collection of elements into a particular
order is known as

(A) Searching (B) Sorting

(¢) Rearranging (D) Merging
(xv) JMAR TR IWINT BT dlell storage device

@n SSD (&) Pen Drive

(@) HDD (%) All of the above
Commonly used storage devices,

(a) SSD (8) Pen Drive

(¢) HDD (D) All of the above
(xvi) F=foiRaa & | SI<T 9e BICT -caad 2 |

@) WAN () MAN

(& LAN (%) None of the above
Which of the following is the smallest network ?

(A) WAN (8) MAN

(¢) LAN (D) None of the above

Q2. Fill in blanks
(i) ...................... search fbdl 91 elements &1 ‘Es‘ﬁ@ ﬁ:ﬂ, Udh R H Udh
A B elements &1 STE BT © |

2

V2

V2

V2

V2

V2

V2



(ii)

(iii)
(iv)
(V)

(vi)

(vii)
(viii)

(ix)

...................... search checks the elements of a list, one at a time, without
skipping any elements.

Bl faey 9 H T@l & WUT B YA FARAT BRA DI AT Bl o EZENIGI
g Ya
The process of placing or rearranging a collection of elements into

a particular order is known as ..........cccceeeveeevuveennnen.

Front 3R Rear &1 SUIRT ...ooocooooee BT /AT AT 3 H fBar e 2 !
Front and Rear are used to indicate begining and end of ...............
.............................. Udh Python object g I Ud error ®I gaTal = Ya

....................... is a python object that represents an error.

...................... Udh YHMH dT U8 % Sl data base @I SUIRT T maintain HId & %—I’Q

STANTHAT BT FeH I ¢ | )
A ... is a collection of programs that enables users to rate mantain and use a
database.

fooedY e & IS fARIYdT foreign key ® | IfS I8 ) 0 Have H ........... key 8 %
An attribute in a relation is foreign key if it is the .............. key in any

other relation.

FTP 316 BT 3 & oo . Ya
The term FTP stands for ................. .

......................... HZ I3 cdd BT WIS o | Ya
........... is a collection of many separate networks.

VOLTE @7 31ef 8 Ya
VOLTE stands for ........ccccovviiniiniiiiiineen.

...................................... Udh legitimate software g o Udh IR il 8l 5 & 9TS virus

Pl INE DI Bl 2 | Vs

................ looks like a legitimate software which once installed acts like a virus.

Q3 ¥ M vl & SR fofag |

Answer the following questions.

(1)

(ii)

(iii)

(iv)

Python # ID Error Exception Goxe HIefH P S B P 1
How to catch ID Error Exception in Python ?

Python # &9 Open () &1 SUANT &F HA & ? 1
When we use open () methods in Python ?

Data file ¥ Data @ Bytes(n) &I fAfde AT BT g & foIv fd ®waRM &1 SUART fhar
T B | 1
Which Method is used to read a specified numbers of bytes(n) of data from a
data file.

forell e § BT @ A AL § & wE 2 [90, 120, 110, 115, 85, 90, 100, 110,
110]. B3 & SHarg &1 ARIT T Mean ST HIFTT | 1




Q4

Q5

Q6
Q7
Q8
Q9

Assume that height (in cm) of Students in a class are as follows [90, 120, 110,
115, 85, 90, 100, 110, 110]. Find Mean or average height of the Class.

Database schema @1 87
What is Database schema?

(vi) SQL # & update statement & JART ¥ ofd & ?

When we use Update statement in SQL ?

(vii) Computer network & ®I3 Ui AT foIRay |

Write any five components of computer network.

(viii) Transmission Media @1 8ra7 € ?

What is transmission Media ?

gug — (4)
SECTION -(B)

Catching an exception &I A=Y |
Define the term Catching an exception.

1 foRg BUT (a) T (b)H T 3R & ?
(a) p =open("Practice. txt", "r")
p. read (0)
(b) With open("Practice. txt", "r'") as p:
X =p.read( ).

What is the diffence between the following set of statements (a) and (b) ?
(a) p =open("Practice. txt", "r'"")

p. read (0)
(b) With open("Practice. txt", "r'") as p:

x = p.read( ).

Stack WR &Y ST HaH+1 dTel AT AR T 27

What are the basic operations that can be performed on the stack?
Deque ScT 23U {6 UBR ¥ SR ST €I8U ¥ 37T & 2

How is queue deque data type different from deque data type?

T foReE I 3faRIE! A H HHdE DI & (oY 99l Aic YIRH o |
Write a bubble sort algorithm to sort a list in descending order.
Collision @1 87

What is collision?

1.5

1.5

1.5

1.5

1.5

1.5



Q10 Structured data 3iR unstructured data # 3R ferRay | 15
Differentiate between Structured data and unstructured data.

Q11 vs w<re & A T &1 amowe (Q(ifesrass #) 34, 34, 27, 28, 27, 34, 34
fear rar 81 9 9amE @1 standard deviation SiTd ST | 15
Consider the temperature (in Celsius) of 7days of a week as 34, 34, 27,

28,27, 34, 34. Find the standard deviation temperature.

Q12 Single Row Function 3R Aggregate Function # %13 31 3R forfay | 15
Write any two difference between Single Row Function and
Aggregate Function.

Q13 3w SQL Statement T 3T3CYC %I'@'Q | 15
(a) SELECT POW (3,4) (b) SELECT LENGTH ("INDIA")
Write the output produced by the following SQL Statement.
(a) SELECT POW (3,4) (b) SELECT LENGTH ("INDIA")

Q14 HTTP w fewoft farRey | 15
Write short Note on HTTP.

Q 15 Dos 3R DDos 3ica # 3R fofRau | 15
Differentiate between Dos and DDoS attack.

Qg — (|)
SECTION -(C)

Q16. Stack &1 STIRT oRD UH ReT & Rad # foras &1 v wim forlRey | 3

Write A program to reverse a string using stack.

Jrerar / OR

((@4+3) * (4/2) ) + 2 SR el B1 STLNT B §U | Stack data structure BT STINT
PP PISH! B el B oIy RO X =R Ufshar @ |

( 2+3) * (4/2) ) + 2 using above Expression show step by step process for

matching parentheses using stack data structure .

Q17. Python ¥ v g forRau s R palindrome & AT 81 | 3
Write a Python program to check whether the given string a palindrome or not
using deque.

arerar / OR
Quene 3R stack @1 eI BN |

Compare and contrast queue with stack.



Q18. T® &I H Y & AT BTF &I A STl ST 8 | U Y ford ST UAd A &l
RIET HH H TR PN |
During admission in a course, the name of the students are insert.
Write a programe to store every name in ascending order.

3rerar / OR
fsfT List ®Tascending order § ®HEg &= & folU selection sort & algorithm fore |
Write a selections sort algorithm to sort a list in ascending order.
Tug — ()
SECTION -(D)

Q19 Linear €9 UUTH &7 IUANT & g Swilde deg 8 &l &l g List [42, -2, 32, 8,
7,9,42,3,8,44] 5 @ol | I8 DI Position [G@RIATT 3R GBI a7 31 EFTT?
Use the Linear search program to search the key with value 8 in the list
having duplicate values such as [42, -2, 32,8, 7,9, 42, 3, 8, 44]. What is
the position returned? What does this mean?

31e1d1 / OR
U% Num List H 7 elements® [8, -4, 7, 7,0,2,9] S Num Lisy § 5 17 @I 2 |
Linear 9 YeTIRH &I WINT R gJ $HD WU ford |
Assume that the num List has seven elements [8, -4, 7, 7,0,2,9] so n=7.
We need to search for the key num List =7. Write The step by step process
of Linear search using Algorithm.

0.20 DBMS & H& 3@ERTN & quiF BTy |
Describe Key Concepts of DBMS.
3ferar / OR
Relation @ 9 Hgcaqel Uil &7 guiF HIF |
Describe Three important Properties of a Relation.

4
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1, I5aYT TG IAPIR —
%4 SEGED SICRIN gfarera
1. SISl 13.00 23.22%
PRECEL 18.00 32.14%
3. | srfyafad 14.00 25.00%
4. HifeTdhd 11.00 19.64%
ART — 56 100%
2. Uodl b JHRAR JPIR —
3. Rereal) geq gl BT | Y BT | G
1. El?\j'f%r% 16 Y 8 14.29 31.37 23
2. | Rad == 10 Y 5 8.92 19.61 12
2. \?HI?IEIQ?IQ Hb 8 1 8 14.29 15.69 15
3. | TERTHD 12 1.5 18 32.14 23.53 65
4. | ISR UH 3 3 9 16.07 5.88 35
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fdmed AT : @vs ' 7 'S H T
3. fawg avg &1 PIR —
Eaksl [EERICES PR | Tfarerd
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4 Plotting data using MAT PIOT LIB 7.5 13.39
5 Internet and WEB 6 10.72
6 Societal Impact 6 10.72
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Yrs — I

SECTION-A
(i) saL ¥ count function @I FEIT < B | iz
(A) Values (B) Distinct Value
(C) Group by (D) Columns

The count function in SQL returns the numbers of

(A) Values (B) Distinct Value
(C) Group by (D) Columns
(il) SELECT ROUND (153.678, 2) < & &1 RS 81T ? Y
(A) 153.6 (B) 153.67
(C) 153.68 (D) 153.7

What will be returned by the given query ? SELECT ROUND (153.678,2)

(A) 153.6 (B) 153.67
(C) 153.68 (D) 153.7
(iil) R digital foot print fHd® §RT 9T ST AHhaT & | Ya

(A) Visiting any website  (B) Sending email
(C) Positing online (D) All of the above
Our digital foot print can be created by -

(A) Visiting any website  (B) Sending email

(C) Positing online (D) All of the above
(iv) PANDAS & 37ef 2 Y
(A) Panel Data (B) Panel data system

(C) Pandas Data Structures (D) Pandas NumPy Data Structure



PANDAS stand for.
(A) Panel Data (B) Panel data system

(C) Pandas Data Structures (D) Pandas NumPy Data Structure

(v) H=ITRY & eI | Heg AT S B & (oY e were &1 WA fdhar Siar 21 Y
(A) Mean () (B) Median ()
(C) Mode () (D) Count ()

Which function is used to find the middle numbers from a set of numbers ?

(A) Mean () (B) Median ()
(C) Mode () (D) Count ()
(vi) Plot ST ARSI AR << & oIy AT fhar Srar g 98 & Y
(A) Bar (B) Line
(C) Histogram (D) Box plot.

Plot which is used to given statistical summary is

(A) Bar (B) Line
(C) Histogram (D) Box plot.
(vii) Matplotlib wATfeT st & ? Y
(A) 1D (B)2D
(C) 3D (D) All of above
Matplotlib is .......... plotting library
(A) 1D (B)2D
(C) 3D (D) All of above
(viii) 99 UST fhg HT9T BT SUATNT B I91=T ST 8 2 Y
(A) XML (B) JAVA

(C)C (D) HTML



Web pages is created using language

(A) XML (B) JAVA
(C)C (D) HTML
(ix) fefStea ug forg wufed g & ? Y
(A) Temporarily (B) Permanently
(C) For 7 days only (D) For 3 days.

Digital footprints are stored ..............

(A) Temporarily (B) Permanently
(C) For 7 days only (D) For 3 days.
(x) FreforRad § 3 {59 topology # wcad @I GRI oWl H del dlell Udb ddhdi
Sl Bl & | Y
(A) Star (B) Bus
(C) Mesh (D) Tree

Which of the following topology contains a backbone cable running though the whole
length by the network .

(A) Star (B) Bus
(C) Mesh (D) Tree
CO p— BT BT ST 3 /a1 ueRia o= & forg far Smar 2| 2
(A) Showing (B) show
(C) Display (D) screen
.................. Function is used to display figure chart.
(A) Showing (B) show
(C) Display (D) screen
(xii) fSTee ®Y A plot () TP ..o e g4 & | Y
(A) Histogram (B) Bar graph

(C) Line Chart (D) Pie Chart



By default plot () function plots a............. :

(A) Histogram (B) Bar graph
(C) Line Chart (D) Pie Chart

(xiii) Aggregate function Bl & — Y
(A) Max () (B) Min ()
(C) Sum () (D) All above

Aggregate functions are

(A) Max (B) Min
(C) Sum (D) All above
(Xiv) Record I TN B+ & IV SUART fohar S aTel] HHTS o | Y
(A) Update (B) Add
(C) Update all (D) Nun of above

Perform's pattern the command used for modifying the record is -

(A) Update (B) Add
(C) Update all (D) Nun of above

(xv) ABTT A UTT 63T & {0 I A sqL ! I8 BT SYANT fhar Srar g | Y
(A) Maximum (B) Most
(C) Upper (D) Max

Which SQL keyword is used to retrieve a maximum value ?

(A) Maximum (B) Most
(C) Upper (D) Max

(xvi ) FrferRaa % & SQL aggregate function ® | iz
(A) LEFT (B) AVG

(C) JOIN (D) LEN



Which of the following is a SQL aggregate function ?

(A) LEFT (B) AVG
(C) JOIN (D) LEN
Q 2 (i) [T 1 Sicad H & HAYSR DI FHal Al T ... %)

The main computer in any network is called as ............... .

(1) J— HIRIEI JANIRHT Ugd & B 7 | %

..................... is the act of unauthorized access to a computer.

(iii) TP SU NI U saL3rfaafad 7 1 O™ .......... U 3T SQLBYA H I@T AT 7 | Z
A Sub query is an SQL expression that is placed ................. another SQL Statement.

(iv) Select query T ... clause B URUTH H ®del Swa! Ufdadl & TI9 HRA DI

AT <l & S U ffdss o @l g1 el & | vz
The ............. clause of select query allows us to select only those rows in the result that satisfy a
specified condition.

() 36 BT SYART ATfetdl H BT record BT HaHd Bt & forv fovar irar 21 %%
The term ............... is used to refer a record in a table.

(0 P— g BT SYART ATfTdT H B field B FafHd dx & foru foar Smar 21 %
The term ......... is used to refer to a field in table

(vii) fr<fl der % B AR foreign key & IfT I8 fHdl) oy dder # .. ol gl Y
An attribute in a relation in foreign key itis the ................ key in any other relation

) J— & SUART data frame  LATH A URId &1 & fog foar s 81 %
................. is used to display the minimum valus from the data frame.

(9 Td computer & SIl 3 UIITH AT HFYE HI HAY & HRAT & | %)
A is computer that provides serious to other programs of computers.

(x) Digital foot print ............... Y ¥ GBI B T iz

Digital foot print are stored .................. .



Q3 ¥ W gl & SR o |

Answer the following questions

(i)

Table

1

Name

Unite test

Maths

Science

S. St.

Hindi

English

Arvind

1

15

22

25

22

21

| vl & foly SRfI=s §RT UTa <IAcH 3 UGRIA & & oY statement o |

Write the statement to display the minimum marks obtained by Arvind in limit test for all subject.

(i) Missing value ¥ 30 &1 9T & 2

What do you understand by the term missing value.

(iii) "Rajasthan” ¥req # 3R STd &)1 BT SQL statement fored |

Write SQL statement to count alphabets in word "Rajasthan”

(iv) D1 SQL RewT o™ bl <) 18 RT & Ihe I dull BT g & dTg,

Ret oxa & SuanT fhar rdr 2 |

Which SQL string function is used to returns the given string after removing trailing white space

characters.

(v) Pandas &I §=9cial &’ & foly ®Hie g ford |

Write command line to install Pandas.

(vi) Legend &T IT 389 & ?

What is the purpose of a Legend ?

(vii) {3 topology H dddl ®del BT & Wil Q¥ "cdd H daldl © ?

Which topology contains a backbone Cable running through the whole length of the network?

(viii) 'Cyber Crime' & T Holeld & ?

Wwhat is meant by the term 'Cyber Crime'?

1




Wus q
Section B

Q4. SQL command & I~ 33CYC foTed | 1%

Write the output produced by the SQL Commands;

SELECT POW (3,2)

Q5. SQL TR | I~ 3M3cye ford | 1%

Write the output of the following SQL queries
SELECT RIGHT('SCIENCE!, 4);

Q6. Series @ IMMHR H 3T AT THSI © ° 1%
What do you understand by the size of Series?
Q7. Dataframe, 2D array ¥ & UdR 1 § ? 1%

How is it Dataframe different from a 2D array ?

Q8. SQL TR ¥ IeU~ 3r3cye forg ? 1%
Write the output the following SQL queries SELECT LENGTH ("Gurpreet") ?

Q 9. Data frame. quantile () @I TR &R | 1%
Define the terms Data frame.quantile()

Q10. Pandas fSS[eIclTg oo &I uiRHINT & | 1Y

Define Pandas Visualisation.

Q11. SQL TRl ¥ I~ 3M3cye ford ? 1%

Write the output of the following SQL queries
SELECT RIGHT ("SCIENCE" 3)

Q12. JeTSS 3R 99 Ul H 3R g8y ? 1Y%
Differentiate between Website and web page.
Q13. VolP SHsIa ? 1Y%

Explain VoIP ?



Q14. Copyrights 3R Patents # 3f<R a3V | 1%
Write the differences between Copyrights and Patents .

Q15. Phishing 3iR Fraud, §—#al # 3R fe1lRay | 1%
Write the difference between Phishing and Fraud Emails.

YUs Y

Section C
Q 16. Single row function 3R Aggregate function H ®Is &I 31X feTfRdy | 3

Write any two difference between Single row function and Aggregate function.

317dT / OR
HTAT 0T A MY AT FH 2 |

What do you understand by Cartesian Product ?

Q17. 418 A & Ic B b GRFIRT & | 3
Define Plotting Pie chart.
3721d1 / OR
Plotting scatter chart &I TRHTYT &N |
Define Plotting Scatter chart
Q18. Y& IEIEXVT &I HEIdl F Group by @1 @RI HI FHSY | 3

Explain the concept of Group by with help of an example.

3721d1 / OR

Data analysis H AT U HecquyUl JqHRN T 2
Why estimation is an important concept in data analysis?



YUs

Section D
Q19. 4
Table: Student
SCode SName SMarks SSubject
S01 GURPREET 82 ENGLISH
S02 ARVIND 54 MATHS
S03 MANDJ 45 COMPUTER
S04 RAVINEDRA 65 ECONOMICS
S05 NARESH 38 BIOLOGY
S06 SAKSHI 89 BIOLOGY
(A) Student O g |
() Bt B YR & |
(c) IRoft B BTAT & 91 HATTAR TSR N |
Table: Student
SCode SName SMarks SSubject
S01 GURPREET 82 ENGLISH
S02 ARVIND 54 MATHS
S03 MANDJ 45 COMPUTER
S04 RAVINEDRA 65 ECONOMICS
S05 NARESH 38 BIOLOGY
S06 SAKSHI 89 BIOLOGY
(A) Create Student table.
(B) Display the total number of student.
(C) Display Student Name in Ascending Order.
37e1dT / OR
Using the sale table from CAR SHOWROOM database
SALE
INVOICE Carld Cust ID | Sale Date | Pyment Emple Sale Commiss
No Mode Price
1001 D001 C0001 | 14-09- Online. E004 63247 10,000
2022
1002 S0001 | C0002 | 12-12- Credit Card | E001 590312 12,000
2021
1003 S002 C0003 | 15-01- Cheque EO010 604000 11,000
2022
1004 D002 coo04 | 11-11- Bank EOO7 569982 11,000
2022 Finance
1005 EOO01 C0005 | 01-02- Credit card E002 639310 11,500
2022
1006 S002 C0006 | 20-02- Bank EOO7 620214 12,500
2022 Finance




famr arferar &

(A) T® TEDH §RT WGl T3 BRI & A&IT USRI DI |

() Il UTE® 1 faeh!l dTfeTdT | o A 3ff¥id HR WGl § df WAl T8 BRI & ATEH I8 S

3R AT yafRid |

Sale table from

Using the sale table from CAR SHOWROOM database

SALE

INVOICE Carld Cust ID | Sale Date | Pyment Emple Sale Commiss

No Mode Price

1001 D001 C0001 | 14-09- Online. E004 63247 10,000
2022

1002 S0001 | C0002 | 12-12- Credit Card E001 590312 12,000
2021

1003 S002 C0003 | 15-01- Cheque EO10 604000 11,000
2022

1004 D002 cooo4 | 11-11- Bank EOQO07 569982 11,000
2022 Finance

1005 EO0O01 C0005 | 01-02- Credit card E002 639310 11,500
2022

1006 S002 C0006 | 20-02- Bank EOQO07 620214 12,500
2022 Finance

(A) Display the number of cars purchased by each customer from the Sale table.

(B) display the customers Id and numbers of Cars purchased if the customer purchased more
than one car from Sale table.

Q20.

TABLE : PRODUCT
ltem Company Rupees USD
TV LG 12000 700
TV VIDEOCON 10000 650
TV LG 15000 800
AC SONY 14000 750

ol T3 9ROl Ursde & forv f=aferRad ursed code forRaw |

(A) SWRIGT dIfTdT & fTT data fram 999 & T |
(B) LGTV & IAfTHTHIS BT TR B & o1y |




TABLE : PRODUCT

ltem Company Rupees USD
TV LG 12000 700
TV VIDEOCON 10000 650
TV LG 15000 800
AC SONY 14000 750

Assuming the given table: Product. Write the Python Code for the following
(A) To create the data Frame For the above table.
(B) To display the maximum price of LG TV.

31eraT / OR
for aRvfyg @ |
(i) A (i) 9gTD (iii) AT et

Define the terms: (1) Mean, (ii) Mode, (iii) Standard Deviation.
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1 I B PR —
B SEEta JPHHR gfererd
1. | =M™ 18.5 33
PRECEL 18.5 33
3. | SRR / srfaaafaa 14.5 26
4. | DA/ HifeTddl 4.5 8
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T 51 56 100 100 195 fA9e
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Esh fava a%g PR | gfaerd
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3 | IHPR—3 YR B Ud SI<IRTS I ENUTY 10 17.9
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5 | SHIs—5 TAERY 3R AT 11 19.64
arT 56 100
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I ATegAe UNIell, 2024

Senior Secondary Examination, 2024
THAT UR1-UA
Model Paper
fowg — gafaror fasm
Sub : Environmental Science
|HY : 03 GUS 15 e quTies : 56

General Instructions to the Examinees

1. GRIeTefl FAYeH MU URH—UF I7UAT AR Iffardd: forwd |
Candidate must write first his/ her Roll no. on the question paper

compulsorily.
2. 1 e SR SIfard B |

All the question are compulsory.
3. U U Bl IR ol g IR—gRAdT H &1 o |
Write the answer to each question in the given answer-book only.
4, UTH—UF & 2= 9 FUSl wUIRl H &l gopR &1 Jfe /R / R g1
R BT 99 & YT bl & Fel A |
If there is any kind of error/difference/contradiction in the hindi
and english vevsions of the question paper, the question of hindi

version should be treated valid.

Yls —



Section - A

1) f=faRed sgfawada gedl & I AR |

Give the answer of the following multiple choice questions.

i) IgHAYSA HT 98 WR TaH Falfde et g8 Sl &— (2)
3)  TRINGRR 9)  SIURBRR
F) HOIRIER T)  IMUARBIAR

The level of the atmosphere in which most water vapour is found-
A)  Exosphere B)  Troposphere
C)  Mesosphere D) Ionosphere

i) F=rferRad o 4 fgciiae arg ugus &— (V2)
3) AcHR ST ITHITSS (So2) §) Iggio S8 Sifass (Nog)

) ORI UHIeISd ASee (PAN) ©) EISsioid Aehigs (HaS)

Which of the following is a secondary air pollutant ?

A)  Sulphur Dioxide (So) B) Nitrogen Dixide (Noz)
C)  Peroxiacetylnitrate (PAN) D) Hydrptgen Sulphide (H.S)
iii) FrefRad # ¥ aFdiBRoNR T - A
) AR ol §)  gaqd ol
q) - SlEred g CYRCE|
Which of the following is a non- renewable resource ?
A)  Solar energy B)  Wind energy
C)  Fossil Fuel D)  Forest
iv) NAPCC &1 g&aTd gs— ()
3) A 2005 d) T 2009

) 9 2007 T) |9 2008



NAPCC Started ?

A)  Year 2005 B)  Year 2009
C)  Year 2007 D)  Year 2008
v) FrefoRad & 9§ diel § Saswerd &1 58 SRS o— (V2)

) AR ST JTRIZS (S02) d) PIad ST AfdZS (COy)

W) TR YARI BEF (CFC)  ©) A8¢d IiTaITSS(N20)
Which of the following is the main factor of necrosis in plants ?

A)  Sulphur Dioxide(S0,) B) Carbon Dioxide (CO2)

C)  Chloro Floro Carban (CFC) D) Nitrous Oxide (N20)

vi) TSI e BT & HRD o— (2)
3)  CFC §)  N20
) €O %)  CHa

The main factor in ozone depletion is -

A)  CFC B) N0
C) cCo: D) CHs
vii) difead Forg feaa d&fa 8 — (V2)
3)  SffRieH §) 3N
) Sledry 3) OR Sl
What is the Montreal protocol related to ?
A)  Oxygen B) Ozone
C)  Water Vapour D)  Solar Energy
viii) JATEROT HRETOT STEARIH TN g3l — (V%)
3) I 1986 q) 9 1989

) AT 1991 ) 9T 2000



Environmental Protection Act came into force -

A)  Year 1986 B)  Year 1989
C) Year 1991 D)  Year 2000
ix) 3l a9t AT 8— (V2)

3)  IIA+IIUEHA

) AorIRe FI+ATSICD 3T

) TR AR BrEd+ASeo S8 g s

2|

3) I+ ARSI
Acid rain is a mixture of -
A)  Benzene + Benzopyrene
B)  Sulphuric Acid+ Nitric acid
C)  Chlorofloro Carbon + Nitrogen Dioxide
D)  Methone+Sulphuric Acid

x) FfeRaa % 9 fbg Silam] 4 SIfed ARTal & FliaRor &f ear ars. Il

g7 (V%)
J) SN s q) NI LIl
)  derafaue 3)  Sudth 9l

Which of the following bacteria has the ability to degrade complex compounds ?
A)  Pseudomonas Putida B)  Ralstonia Eutropha
C) Klebsiella D) All of the above

xi) frforRaa & & fog Shary] &7 oR—a T el SIar g— (V2)
3) e RAfIuRd 9 gSAAN™ s
H)  NSOlfdId YHAARRE §) SR

Which of the following bacteria is called 'Superbug' ?
A)  Bacillus Thuringiensis B) Pseudomonas Putida

C)  Rhizobium Leguminosarum D) Xanthomonas



xii) 9T AR UT BT & (V2)

&) i d) B8l

H) DYl 3)  Hael
Vermicompost is obtained from ?

A) Hen B)  Tortoise

C) Earthworm D) Cattle

Xiii) I~ B dTel WA & AR WR S Hax bl fdba-il AT F aificgd Had

g 7 (2)
&) dH q) TR
§) 9 ] dH

How many categories solid waste is classified based on the source of generation ?

A)  Five B)  Four
C) Seven D)  Three
xiv) frferRad § | dI9- 7199 SIfAd efuer © °? (V2)
%) P @ g
%) ATl 9 I
Which of the following is a man-made disaster ?
A) Earthquake B)  Tsunami
C) Volcano D) War
xv) fFfeRad & & fRae! sfiee™ @& oH @ &€ ? (V2)
31) Wl UIed 9)  gavdrdd ggon
) BHAT TS RGN

Who among the following is the father of "Chipko Movement" ?
A) Medha Patkar B)  Sundarlal Bahuguna
C) Kamla Prasad D) Kalyan Singh



2)

xvi) TR 91’ & 991 B 99 & forg EfaRad srerem g e (V)

) Ufad! fere™ q) g g
SRR RIAEE] T)  ulRRTH °ie 99mRl TG
The following movement was launched to save the forest of western ghats .
A) Appiko movement B)  Chipko Movement
C) Silent Valley Movement D)  Save Western Ghat Movement
Raa et @1 gff Hifme:
Fill in the blanks:
i) TSI R S A S ATl @ gl R ugad | Jael ol (Va)
The ozone layer prevents ............ccceeeeueeee. form the sun from reaching the Earth.
ii) TR ¥ UEAT SHI—HATD TGRS BHAT DI oo & forw fem a1 (o)
The first Eco-Mark in India was given to godrej company for............cccccuveeeene. :
iii) aIoNg (ARETOT) STETIH .o DI AN BT | (2)
The Wild life protection Act ................. came into force .
iv) BT R @ JATIAY TTECH B QR oo T g9t E (V2)
................. gases are formed during decomposition of solid waste.
V) IS & HFIA DI .o PHEd T | (V2)
The vibration of earth's crust is called ............
Vi) e & BICI, MeAThid, WUfdhdd A7 DNA &1 Je4 ol dTel!
G B | (2)

................ is a small, circular, self replicable, double stranded structure of a DNA.

vii) IS R & foTU I WRBR 5T & Bl ... BIEGECEESER])
2 (72)

For wild life conservation, the state govern ment can declare any area as a




viil) TH@ g1 & HROT el AT BT &7l & TR AT Fearar g1 (V%)

Falling of rock material due to the force of gravity is called .............. :

ix) STet | ATSgT @ 3AfSrd A | Adord R # .o % AT B STl
= (2)
Excessive amount of nitrate in water causes a disease called .............. in newborn
babies .
> S &3 dael aafd I & forg €1 uga B g | (V2)
Areas like .............. are used only for growing vegetation .

F=feTRET Uedl & SR U weq IT Yo Ufdd H fIlRay | (RIfreTgaRicAsd ue)

Answer the following question in one word or in one a line. (Very short answer

type questions)

i) Slg Adbad a1 § ? (1)
What is bioindicators ?

i) 9ae Solt | 3T RIT A & 2 (1)
What do you understand by wind energy ?

iii) enid &= / aRers fhd dgr T 7 ? (1)
What is silence zone ?

iv) S1d SU=RIGR T 8 ? (1)
What is bioremediation ?

V) XORE # 997 el Yol &1 IRARS faftrt & 9w faRay | (1)
Write the name of the traditional methods of rain water harvesting in rajasthan.
vi) [a%a &1 ugerr W9 9% wEl wenfua fear T o ? (1)
Where was the world's first green bank established ?

vii) TIfaRYT Ygue B GRHTRT BT | (1)
Define environment pollutants ?

viii) TR ffaRio AT a1 § 7 (1)

What is biochemical oxygen demand ?



10)

11)

12)

13)

14)

15)

Yls — q

Section-B

TETRICAD Y © (SR Teq AT T4 30 Ieq)

Short answer type questions: (Answer word limit approx: 30 words)
HY U fd UHR | I & Ui &=d 8 ?

How do agricultural wastes pollute water ?
Aol & A= WR s+ 9Tt B A g¥E fRkay |

Write any three effects of radiation on humans.

repfcres FATEl 1 fafer= Aol & ar H wfere § oy |

Write briefly about different cate gories of natural resources .

3R- HHUAT T § ?
What is 3R- concept ?
STl AREAYT AT BT Dlg A feradm forfey |

Write any three features of water conservation Act?

ST SRIfead T 7 ?

What is xenobiotics ?

S JMMAE | MY T TS © 7

What do you understand by bio- magnification?

I GuR &I W1 Iy & Ir # faRay |

Write about the scraping method of land improvement .

FITel Ulelidhlial &l fagryar foRau |

Write the characteristics of kyoto protocol .

JMERIe wUARA Siral & a9 ey |

Write the benefits of geneticaly modified organisms .

T & gUHMET B DA BH [HIT ST FAhaT © 2
How can the ill effects of drought be reduced ?
IR Y & HROT Jd1=Y |

Explain the reasons for barren land .

(1/7%)

(1/7)

(1/72)

(1/72)

(1/72)

(1/7%)

(1/7)

(1/72)

(1/72)

(1/72)

(1/7%)

(1/72)



16)

17)

18)

Yvs — 9

Section-C

e STRIT U9 : (STR g AT TTHT 60 Q)

Long answer type questions: (Answer word limit approx: 60 words)

AR Holl AT 27 $9P ScIed dI fharfafdy &1 Warferd gRT 9130 |

(3)

What is solar energy ? Explain the mechanism of its production with a linear

diagram .

arerar
Iy TIfh dabiieh R fewofl forfay |

Write a note on wind power technology .

fewoft forRgu 2
() g CIREIRE
Write a comment :-
(A) Tsunami (B) Wildfire

SAdT
RIS BT Uda b fHar S |Feham 7 2
How can landslide be mangaged ?
=1 oia e @ favany faRay |
Write the features of wild life Act .
SAdT

UTERUIR BT Bl AR B H DIA—DId1 IR Ml 8 2

What are the obstacles of enforcing environmental laws ?



19)

20)

Ylsg — ¢
Section-D

frdeTHS U ([TR oeq HHT 120 )
Essay type question ( Word limit 120 words)

AT YWl 7 € ? SHS Feildl IR JT JATd USdl & ° 39d 9AY B DI
a1 U forRay | @)
What is thermal pollution? What effect does it have on living beings ? Write any
two measures to control it .
SAdT
BRA T8 U9 T &7 diRad SR BT UIaRvl IR FIT YHTd &1 R8T © °
What is green house effect 7 What are the effects of global warming on

environment ?

JHTheaR ¥ 3T T FASI & ¢ IHIHHIRST dh-ld FHSE | (4)

What do you understand by vermiculture ? Explain vermicomposting technique .
3rerar

YRA H WRAREMG ©Y 9 Ugad B9 dlell JAURIE Sol— IUaRY ol fafes

ferfag |

Write the methods of traditional waste water treatment used in India .




